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= A1E ZA 2

[# 1-3] 2op X9 XAl RYG 25
F2 Mg B4 OF A" FF OH BN M3 B Zd
2at 3,845 1,053 430 398 480 344 208 15 2,282 462
0= 13,404 2,344 2,252 1,365 1,955 1,519 535 76 8,952 937
=0 670 174 47 37 51 59 29 3 362 64
AR 2,382 441 578 324 707 417 243 44 2,339 344
a= 2,109 213 251 37 76 105 39 8 330 27
=< 4,340 751 552 316 351 333 152 25 1911 368
=2t 2,550 536 403 375 440 114 103 136 1,436 156
=22 13,974 514 320 1,333 184 310 94 18 6,882 242
2S5 A0 5523 157 88 477 35 76 40 15 2,862 70
28 3411 336 174 188 123 144 83 9 1,157 76
A= 9,326 671 375 675 305 259 108 12 3,593 388
A3t 3,381 131 32 258 61 39 10 6 1,391 42
ot} 666 39 26 95 16 21 4 3 755 25
7|E} 5,148 1,092 635 216 438 380 166 24 1,585 595
sHA| 70,729 8,452 6,163 6,094 5,222 4,120 1,814 394 35,837 3,796
78 5% z¢ s HY FE ZE MF 04 R
23t 373 300 641 406 366 672 239 783 13,297
0= 771 1,110 1,845 1,125 1,653 2,365 508 3,502 46,218
=0 32 57 144 46 46 81 32 40 1,974
N 42 445 706 493 726 582 190 84 11,087
= 130 40 56 16 33 64 84 281 3,899
< 192 233 369 196 287 387 215 430 11,408
=¢t 113 192 361 218 159 392 99 190 7,973
=29t 163 251 201 120 216 266 82 377 25,547
HES A0 38 90 59 28 38 58 53 621 10,328
28 30 69 163 83 86 320 37 125 6,614
A= 237 257 432 272 260 368 106 855 18,499
A3t 12 31 29 25 15 39 21 283 5,806
ot} 12 52 14 32 52 50 20 52 1,934
7|Et 253 414 752 658 379 506 294 421 13,956
sHA| 2,398 3,541 5,772 3,718 4,316 6,150 1,980 8,044 178,540

7 X% Ol 8044 E3
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2018 Of=Q! HEfZA} =
N ory Mw mA ZEC ¥
(B 1-4] 20pY ¥ ZAt DAL 22
T E B Xt of xt 25 A
23 6,115 6,573 609 13,297
0= 18,539 26,219 1,460 46,218
=0 712 1,151 111 1974
N 1,038 423 9,626 11,087
= 3,517 382 - 3,899
=% 5,598 4,965 845 11,408
=t 2,787 5176 10 7,973
=29 17,185 8,358 4 25,547
BES A0 4,592 5733 3 10,328
28 793 3,077 2,744 6,614
o= 10,129 8,058 312 18,499
a3t 3,845 1,742 219 5,806
Aot 1,127 802 5 1,934
7|E} 7,262 6,680 14 13,956
sHA| 83,239 79,339 15,962 178,540
N gopm iy xAb BHG WY
[E 1-5] S0P ¢IHY TAF DT 22
T & 10cH 20cH 30CH 40cH 50cCH 60| O] At SHA|
=5t 1 278 982 1,754 3,837 6,445 13,297
Ol= 2 1,028 5,262 7,242 13,156 19,528 46,218
=0 38 329 563 560 483 1,974
N - 73 349 862 2,908 6,895 11,087
H= - - 178 863 1,362 1,496 3,899
=9 73 768 3,188 3,049 2,354 1,976 11,408
=t 4 702 1,581 1,382 1,595 2,709 7973
=29k 160 6,180 10,134 4,471 2,222 2,380 25,547
B & A0 12 644 2,940 3,641 1,864 1,227 10,328
28 19 1,452 2,605 1,279 640 619 6,614
A= 3 2,317 6,695 4,724 3,066 1,694 18,499
A3t - 884 2,545 1,634 425 318 5,806
2t} - 318 629 450 241 296 1,934
7|E} 2 271 2,844 3,772 3,253 3,814 13,956
sHA| 277 14,953 40,261 35,686 37,483 49,880 178,540
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SEEE 22O O[ZEE 125t MET HHHEZERE BEE2S HiZE

-

27 et
Mg 4 O3 AN ZFF OHE =4 HNFE B2 ZH
63 33 21 20 22 19 15 4 49 22
118 49 48 38 45 40 23 9 96 31
26 13 7 6 7 8 5 2 19 8
50 21 24 18 27 21 16 7 49 19
a= 47 15 16 6 9 11 6 3 18 5
9 67 28 24 18 19 19 13 5 44 19
=9 51 24 20 20 21 11 10 12 38 13
ise<t 120 23 18 37 14 18 10 4 84 16
BtS A0 76 13 10 22 6 9 4 54
28 59 19 13 14 11 12 3 35
o= 98 26 20 26 18 16 11 4 61 20
Azt 59 12 6 16 8 2 38
Ot} 26 6 5 10 2 28
7|Et 73 34 26 15 21 20 13 5 40 25
A 933 316 258 266 232 215 143 66 653 208
55 s 5 Y Bd5 ddE HF 0¥ 24
20 18 26 21 19 26 16 28 442
28 34 44 34 41 49 23 60 810
6 8 12 7 7 9 6 6 162
7 21 27 23 27 25 14 9 405
n= 12 6 8 4 6 8 9 17 206
29 14 16 20 14 17 20 15 21 393
=t 11 14 19 15 13 20 10 14 336
st 13 16 14 11 15 17 9 20 459
grS o0 10 8 5 6 8 7 25 285
28 8 13 9 9 18 6 11 264
A= 16 16 21 17 16 19 10 30 445
Azt 4 6 5 5 4 6 5 17 209
At} 4 7 4 6 7 7 5 7 140
7| E} 16 21 28 26 20 23 17 21 444
Al 163 201 249 197 207 255 152 286 5,000
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7|0l MR} st= S3|3=Z(stratified sampling) B2 LIEHL} = 7|=0|C}
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o&0lo 7§ol &AZZ EQH|S 49.5% 2.5% 2.540
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6.6 13.0 10.9 3.3 17.6 8.1 2.1 6.6
9.8 7.6 49 1.7 94 2.7 1.0 4.6
10.6 55 2.5 16 3.3 13 0.6 5.8
8.8 25.0 7.1 21 11.2 6.3 3.2 5.0
7.0 154 7.2 3.2 16.9 7.2 15 5.6
8.9 7.5 34 7.0 6.6 3.3 0.3 6.9
27.8 29 5.0 24 122 91 2.7 10.6
7.8 147 5.6 3.8 164 74 15 6.3
115 13.0 45 34 114 45 11 6.6
6.5 16.2 7.9 5.0 7.8 4.6 1.8 49
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A A 8.1 254 23 6.5 23 6.8
a3} 9.8 1.1 0.0 0.0 0.0 0.0
o0& 0.6 915 36 15 0.8 0.0
=0 0.0 8.2 91.8 0.0 0.0 0.0
AR 0.2 0.8 0.0 97.5 0.6 0.0
= 0.0 41 0.0 0.3 95.6 0.0
Sot 03 0.1 03 0.0 0.0 88.9
U= 2ot 0.0 0.0 11 0.0 0.0 0.1
5ot Esot 0.0 0.0 0.0 0.0 0.0 4.9
Hf 2 o Of 0.1 0.8 0.0 0.0 0.0 1.4
2g 0.0 0.6 0.1 0.0 0.0 0.0
A= 0.6 0.2 0.0 0.0 0.0 0.1
oIS} 0.6 0.6 0.0 0.0 0.0 0.0
ots} 0.0 5.9 0.0 0.0 0.0 0.0
7|E} 7.4 14.9 40 1.0 0.3 438
N 2 6.1 19.3 18 3.3 3.2 6.7
AH/47] 6.5 24.0 1.2 6.5 1.3 5.7
2o ZAH 104 319 43 11.0 2.1 8.0
- do/mH 3 114 3238 3.8 9.5 14 7.7
= /MetH 10.5 33.5 40 12.9 16 6.8
RE/R8HY 16.0 36.2 04 1.1 2.5 9.6
. Lt X} 7.0 236 15 8.3 35 6.3
c= o A} 9.8 28.1 3.7 3.8 0.3 7.8
30 Cf o|st 2.0 11.7 1.2 0.9 0.1 9.3
o 40 Cf 7.7 212 2.8 3.1 24 8.5
=< 50 Cf 10.5 349 34 7.6 37 5.7
60 A| O At 13.2 36.3 25 14.5 35 3.9
TZ0|3} 6.3 19.7 1.9 11.7 0.0 2.8
o f = 7.7 235 16 6.2 17 6.2
o CHBHRl oAk 9.8 332 41 3.0 49 10.9
B2 10.3 13.6 0.8 17.5 14 4.9
3 Mgkl ojot 7.8 28.0 2.0 438 0.7 6.4
AT 3sdpe o 8.7 27.7 22 7.7 14 6.5
S HBHY oAt 8.0 191 30 8.5 55 7.9
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=9 | OE=Y LE5AY | FE& A= kel ato} 7| Et A
7.8 14.2 5.0 35 10.7 4.2 11 21 100.0
0.0 0.0 0.1 0.0 0.6 0.9 0.2 04 100.0
0.0 0.1 0.0 0.0 0.2 03 04 1.0 100.0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
0.1 0.0 0.0 0.0 04 0.5 0.0 0.0 100.0
0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 100.0
0.9 53 0.2 0.0 2.6 0.0 0.0 14 100.0
96.6 0.5 0.0 0.9 0.1 0.2 0.0 0.5 100.0
0.1 945 0.0 0.1 0.0 04 0.0 0.0 100.0
1.0 0.5 74.8 15 9.0 6.3 0.0 44 100.0
14 0.6 0.1 89.2 6.4 0.2 0.0 12 100.0
1.0 04 2.3 0.0 87.8 39 0.0 3.8 100.0
0.0 0.0 6.5 0.0 12 911 0.1 0.0 100.0
0.0 0.0 0.0 0.7 0.0 10 921 0.3 100.0
40.7 2.2 2.3 0.0 6.8 24 0.1 131 100.0
9.8 16.7 5.7 43 13.7 6.3 1.2 2.0 100.0
6.0 17.8 8.3 3.3 10.3 4.2 2.0 3.0 100.0
6.3 9.2 16 3.5 8.3 15 0.5 14 100.0
7.0 12.5 1.0 19 6.1 1.6 0.9 2.5 100.0
9.3 74 14 2.6 59 16 0.3 2.2 100.0
14 6.0 7.1 13 13.7 45 0.0 0.2 100.0
6.7 171 57 15 111 45 1.0 2.2 100.0
9.5 9.5 39 6.5 10.1 3.7 1.2 1.9 100.0
53 28.2 55 6.9 16.7 7.8 2.0 2.3 100.0
6.6 12.8 8.9 31 14.6 5.6 13 15 100.0
8.9 6.8 39 1.6 8.8 1.9 04 1.9 100.0
10.5 51 24 13 2.8 0.8 0.6 2.6 100.0
8.7 244 59 14 9.6 38 2.5 14 100.0
6.4 14.7 5.9 2.7 14.3 54 1.0 26 100.0
84 7.1 2.8 6.2 5.4 22 0.3 1.7 100.0
26.9 2.6 49 2.0 6.7 3.3 18 34 100.0
73 14.1 39 31 134 5.0 1.0 2.3 100.0
11.2 126 3.8 2.6 10.6 31 0.8 11 100.0
6.1 154 7.7 47 6.4 3.6 15 2.5 100.0
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A | 141 241 293 163 48 114 1000 73 107

o3} 166 254 204 184 75 117 1000 6.9 9.3

O/ 106 228 381 162 73 50 1000 5.2 5.3
o 141 276 274 219 43 47 1000 46 47
AR 140 397 372 67 06 15 1000 3.2 5.0

== 350 233 225 133 18 41 1000 4.4 9.3
S of 74 155 238 220 37 275 1000 131 151
QE ot 114 112 276 199 51 247 1000 127 | 151
56 [j=<Sot 184 184 244 173 48 165 1000 94 135
HE 2= Ol 0f 168 170 230 146 50 235 1000 125 167
=K1 169 189 289 203 35 116 1000 76| 112
= 82 377 304 151 17 69 1000 5.4 8.1
o3| 282 489 139 67 06 17 1000 2.5 5.5
ots} 206 488 87 75 10 129 1000 65 125
7|E} 148 154 307 195 57 138 1000 7.6 8.6
= 119 262 304 159 36 120 1000 76 114
oI /Z 7| 176 237 293 135 32 126 1000 74 116
o A3 146 221 302 184 39 109 1000 6.6 8.9
= Ze/ENA 153 240 254 213 54 86 1000 6.5 9.0
A=/t 147 234 289 173 67 88 1000 6.0 7.8
nE/ogck 103 150 226 159 235 127 1000 101 117

. Lk X} 140 244 277 160 53 126 1000 77 113
c= o A} 142 237 318 167 40 96 1000 6.5 9.5
30 Cf o|s} 139 264 280 141 40 134 1000 78 118
of 24 40 Cf 139 231 272 195 31 132 1000 86| 131
=< 50 Cf 126 208 318 182 83 84 1000 6.7 8.5
60 A| O At 156 248 302 149 42 103 1000 6.1 8.5
1Z0|3} 179 239 266 157 51 108 1000 67 100
. IS 142 257 280 159 51 111 1000 72 107
o CHSHSl Of At 113 205 334 173 44 131 1000 79| 112
28E 144 385 269 167 12 18 1000 39 6.3
3 MOLel ojot 135 270 276 165 52 101 1000 6.7 9.7
i@ 3-5&M0tel ojgk 131 216 352 150 53 99 1000 6.8 9.6
7| 5 Horel ofAt 158 212 276 168 37 148 1000 85 127
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T+ 2 104 0Bt 1004 08 0304 0R 040E 02 AW oY A
A A 300 293 18.7 13.0 9.0 100.0
23} 26.5 354 211 9.4 7.6 100.0
o0& 21.0 247 18.3 224 13.7 100.0
z=o 17.0 283 19.8 204 14.5 100.0
AFAI 27.1 300 2211 15.4 5.4 100.0
=S 46 15.9 33.0 36.7 9.8 100.0
Dl 26.0 316 209 10.9 10.7 100.0
QE 2ot 14.8 34.2 30.1 8.3 12.7 100.0
56 =2 of 52.1 276 9.6 5.5 5.3 100.0
Hb 0l Of 226 332 236 13.7 6.9 100.0
og 30.8 389 17.2 7.3 5.8 100.0
= 36.0 346 213 6.9 1.2 100.0
gt 442 41.2 9.5 2.1 3.0 100.0
ot} 45.8 18.7 13.3 8.2 13.9 100.0
7| E} 35.0 221 17.7 9.3 15.9 100.0
N g 3138 273 19.6 11.1 10.1 100.0
OIX/A7| 30.3 343 18.6 10.0 6.6 100.0
e a4 31.0 26.3 15.8 18.7 8.2 100.0
- Ze/mHH 22.8 319 204 15.9 9.0 100.0
o=/Matd 18.4 284 222 16.7 14.3 100.0
DE/23E 484 275 9.0 12.2 2.9 100.0
o Y 26.9 275 19.0 16.0 10.6 100.0
= of X} 35.0 321 183 8.1 6.6 100.0
30ch o|st 61.7 346 36 0.1 0.0 100.0
of 24 40 Tf 206 419 345 3.0 0.0 100.0
=< 50 CH 19.3 237 277 272 2.1 100.0
60 A| O At 9.6 18.5 17.5 237 30.7 100.0
el 341 23.0 16.5 115 14.9 100.0
o oy & 329 30.7 17.7 12.0 6.7 100.0
o CHSHSl Of At 2238 318 213 16.2 8.0 100.0
28E 19.3 15.8 30.0 7.0 27.9 100.0
3dgtel ojgt 247 289 226 17.1 6.7 100.0
i@ 3-5 XM0rel ojgt 284 322 18.5 14.1 6.9 100.0
7 5Hore ofAt 34.0 282 16.4 10.0 115 100.0
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A | 184 150 95 83 58 5.4 54| 45 4.0
=235} 1.8 19 406 06 05 0.0 15 06 0.6
oj& 183 332 123 08 167 0.0 10| 39 45
Zo 304 278 88 02 50 0.0 64| 26 47
AFZI 205 115 213 153 31 0.0 27 121 0.8
= 243 3.0 34 07 11 0.0 12| 38 1.1
Sof 284 9.3 25 128 53 43 38| 68 6.7
QE 2ot 275 192 00 100 71 34 104 41 0.6
56 [f=<Sot 136 2.5 08 66 08 342 90 52 6.5
HF 2= Ol Of 126 1.1 32 126 03 0.1 78| 07 2.8
og 359 153 12 82 08 00 143 68 3.6
<= 19.2 6.9 30 325/ 00 0.2 73 21 2.9
o3| 184 11 133 19 06 00 176 10 16
ot3| 3.8 08 207 00 00 21 229 10 0.3
7|E} 218 250 35 52 36 0.8 29| 86 74
M 2 112 182 85 92 49 7.5 53| 49 4.0
oI /Z 7| 213 123 55 90 61 5.7 95 23 46
o AAH 307 93 132 59 41 2.9 38 43 2.2
= Zo/ENA 74 248 121 62 64 6.5 25 71 6.0
2=/MatA 354 111 118 104 22 1.3 24 61 3.2
pnE/ogck 89 100 174 26 261 0.6 18| 47 3.6
o L X} 172 142 84 96 49 6.3 61 35 46
°= o A 203 162 111 63 7.2 41 43| 61 29
30 Cf o|s} 19.5 9.9 59 80 42 116 86 32 3.8
o1 24 40 Cj 194 133 88 107 43 45 49| 54 5.4
=< 50 CH 151 196 114 108 104 2.0 36 31 2.9
60 A| O|At 190 184 124 50 51 1.9 37 63 4.0
-tk 126 113 89 105 39 8.5 90| 5.0 46
o oy = 197 126 92 93 44 5.9 53| 40 3.6
o LSS Of A 195 219 103 51 96 2.6 31 52 4.4
28 260 127 107 73 18 7.2 78| 39 0.0
3 MOLel ojot 162 158 97 90 69 6.0 56| 41 3.9
i@ 3-5 Mokel ojgk | 191 189 94 89 44 3.8 40 43 3.9
7| 5 xorel ofAt 215 107 91 67 49 5.7 63 5.3 42
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it N s | 2
31 2.9 2.7 2.3 17 15 14 12 11 0.9 0.3 0.2
12 0.0 30.5 0.9 0.0 04 103 04 0.1 4.8 0.0 0.0
0.9 0.0 04 1.7 0.3 0.0 14 0.3 11 0.0 0.1 0.0
0.7 0.0 0.0 0.0 0.0 0.0 44 04 0.0 0.0 0.0 0.0
1.0 0.0 04 2.3 0.0 0.0 0.7 0.1 0.3 0.0 0.0 0.0
391 18 0.0 56 0.0 0.0 0.5 0.0 0.7 0.0 0.0 3.6
2.0 7.6 0.5 4.0 0.7 0.3 0.0 0.3 0.7 0.0 0.6 04
0.1 0.3 0.8 2.9 0.0 0.0 0.0 17 0.2 0.0 0.0 2.1
18 3.0 0.0 18 3.6 0.0 0.2 1.0 2.3 11 09 0.0
11.0 8.7 0.1 12 51| 237 0.1 09 0.9 12 0.2 0.0
11 16 0.2 10 0.3 0.1 0.1 43 0.5 0.0 0.0 0.7
35 115 0.2 2.2 16 0.2 0.1 16 17 0.3 04 0.0
9.9 39 1.0 0.0 129 0.0 14 31 0.7 0.3 11 0.6
41 0.0 3.2 0.3 0.0 0.0 4.0 0.0 19 281 18 0.0
15 0.8 14 6.7 2.6 0.0 0.0 53 11 0.0 0.0 0.0
54 44 0.8 2.7 21 1.7 09 11 10 13 0.3 0.2
0.8 31 3.6 13 2.1 2.6 24 0.6 0.5 1.0 04 0.0
2.2 10 35 2.9 0.6 0.1 14 2.5 2.6 0.8 0.1 0.0
19 0.9 2.9 3.3 15 0.1 2.2 15 17 0.7 04 0.0
04 0.9 7.2 13 0.9 04 0.5 0.6 0.2 0.3 0.0 15
6.2 31 13 2.0 2.3 2.6 0.3 2.3 10 0.0 0.5 0.0
31 3.2 24 2.9 17 13 12 14 14 1.0 0.3 0.3
3.2 2.5 31 13 19 1.7 1.7 1.0 0.6 0.8 0.3 0.1
34 58 0.5 0.8 2.1 14 1.0 17 16 18 0.8 0.1
52 34 0.8 3.0 24 21 15 11 1.0 0.5 0.2 0.0
18 1.2 3.6 24 11 21 2.7 0.7 0.8 0.8 0.0 0.3
2.3 0.7 5.7 3.3 13 0.6 0.7 12 0.8 04 0.0 0.5
13 24 2.8 2.3 29 14 12 0.5 2.3 11 0.3 0.5
36 36 2.8 2.6 2.0 18 1.6 13 10 11 04 0.1
34 2.1 24 19 04 09 1.0 16 0.5 0.6 0.2 0.3
34 17 31 0.2 3.9 0.0 3.8 2.0 0.3 0.9 0.0 0.1
24 33 2.3 2.3 15 13 15 0.8 15 1.0 04 0.2
3.0 2.5 3.0 35 16 11 1.7 15 0.7 0.6 04 0.3
45 2.5 31 14 2.2 20 1.0 16 0.8 11 0.2 0.2
—(A%)
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A = B &% = -
A H| 0.2 0.2 0.2 0.2 0.1 0.1 0.0 34| 100.0
23} 0.0 0.0 0.0 2.2 0.6 0.0 0.0 04 | 100.0
Oj& 0.0 0.1 0.1 0.0 0.1 0.0 0.0 2.9 | 100.0
o 0.0 1.7 0.0 0.0 0.5 0.0 0.0 6.3 100.0
N 0.0 0.0 0.0 0.0 0.0 0.0 0.1 7.7 | 100.0
e 8.5 0.0 0.0 0.0 0.8 0.0 0.0 0.7 | 100.0
Sof 0.3 0.1 0.0 0.0 0.4 0.0 0.0 2.1 100.0
QE 2ot 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.5 100.0
56 [j=<Sot 0.2 0.0 0.2 0.0 0.0 0.8 0.0 3.8 | 100.0
HF 2= Ol 0f 0.1 0.0 0.0 0.0 0.0 0.0 0.0 56| 100.0
og 0.0 0.0 0.0 0.0 0.0 0.0 00 40| 1000
= 0.0 0.4 0.1 0.0 0.0 0.0 0.0 1.8 | 100.0
o3| 0.0 2.5 3.8 0.2 0.0 0.0 0.0 3.1 100.0
ot3} 0.0 0.4 0.0 0.0 0.0 0.0 00 46| 1000
7| E} 0.0 0.2 0.0 0.0 0.0 0.0 0.0 1.7 | 100.0
= 0.3 0.3 0.3 0.1 0.2 0.0 0.0 3.1 100.0
OIF/Z 7| 0.2 0.2 0.2 0.0 0.0 0.5 00 42| 1000
o AAH 0.2 0.2 0.1 0.3 0.0 0.0 0.1 50| 100.0
- Zo/5HE 0.6 0.2 0.0 0.5 0.2 0.0 0.0 2.3 | 100.0
A=/MetA 0.0 0.0 0.0 0.4 0.3 0.0 0.0 1.3 | 100.0
nE/ogck 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.7 | 100.0
. Lk X} 0.3 0.1 0.2 0.2 0.1 0.2 00 40| 1000
c= of X} 0.1 0.4 0.2 0.1 0.1 0.0 0.0 24| 100.0
30 Cf o|s} 0.0 0.5 0.5 0.0 0.2 0.4 0.0 2.8 100.0
o1 24 40 Cj 0.1 0.3 0.2 0.1 0.0 0.0 0.0 14| 100.0
=< 50 Cf 0.8 0.0 0.0 0.2 0.0 0.0 0.0 2.7 | 100.0
60 A| O|At 0.2 0.0 0.0 0.4 0.1 0.0 0.0 6.0 | 100.0
1Z0|3} 0.3 0.0 0.3 0.2 0.1 0.1 0.0 6.0  100.0
o oy = 0.1 0.3 0.3 0.2 0.0 0.2 0.0 3.1 100.0
o CHSHSl Of At 0.4 0.2 0.0 0.0 0.4 0.0 0.0 2.2 100.0
28 0.0 0.0 0.0 0.0 0.0 0.0 0.0 34| 100.0
3 MOrel ojot 0.1 0.3 0.1 0.2 0.1 0.1 0.0 34| 100.0
i@ 3-5 Mot Ojot 0.3 0.1 0.4 0.1 0.2 0.0 0.0 2.6 100.0
7 s HOrY oAt 0.4 0.2 0.1 0.1 0.2 0.2 00 40| 1000
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A A 20.9 14.5 104 9.8 9.4 7.6 70 638
23} 1.5 96.2 0.0 0.0 0.0 0.3 11| 1.0
o= 75.8 13.0 0.3 0.1 0.0 0.0 04 18
20 23 43 0.0 0.0 0.0 0.0 08| 07
AFZI 0.2 47 0.4 0.0 0.0 0.2 05 953
7= 33 4.2 0.0 0.4 0.0 0.0 00 03
Sot 0.0 0.7 12| 422 19.1 3.8 62| 00
QE 2ot 0.0 0.2 1.2 2.2 2.2 0.8 31| 00
56 [f=got 0.0 25 11| 436 547 491 37 00
HE 010 0.2 65 474 2.0 0.7 1.5 159 04
og 0.0 24 4.4 0.6 0.0 0.6 92| 00
<= 0.1 128 616 14 0.5 0.3 241 05
o3} 06 227 16.1 0.0 0.0 00 478 09
ohs} 14 17.6 0.0 0.0 0.0 0.0 00 13
7| E} 124 47 2.7 5.2 1.7 1.6 48| 21
= 14.0 16.0 12.9 11.0 134 10.2 112 | 37
oI/ /A 7| 21.7 8.3 12.9 10.2 9.1 8.0 44| 64
o AAMA 27.1 17.0 7.0 8.6 6.2 42 26 106
= ze/EHH 24.5 147 5.2 7.3 7.2 8.4 41| 95
/M etR 294 134 45 7.6 3.2 3.2 25 134
oE/oect 343 274 8.3 8.7 24 0.6 134 | 42
i L X} 20.3 136 11.7 11.3 11.7 8.3 80 85
°= o X} 21.8 15.9 8.4 7.4 5.7 6.5 54| 39
30 Cf o3} 83 10.1 16.9 18.3 19.0 15.4 99 19
o o4 40 Cf 17.1 14.3 14.5 12.2 9.0 45 107 | 29
=° 50 CH 30.2 17.4 6.4 3.7 4.2 3.8 53, 73
60 M| O| At 30.6 17.3 33 3.1 2.9 4.0 24 145
TZ=0|8} 14.8 10.2 13.5 10.3 14.0 16.1 45 119
. = 19.9 14.6 12.5 10.0 10.2 7.7 85| 64
o CH&HSl Of A 27.9 16.9 45 96 5.4 2.2 61 34
23 41 18.5 11.0 0.6 1.9 2.5 63 137
3 Mokl ojot 22.9 16.9 13.1 9.7 9.8 7.6 81 51
i@ 3-5 XM 0tel oot 21.3 13.8 84 102 6.8 6.8 73| 76
| 5 AOrg ofAk 17.2 10.9 7.4 96 10.7 8.3 49| 88
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A A 6.0 5.2 5.1 34 2.8 2.6 25 24
23} 1.2 0.0 3.2 0.0 0.0 0.0 00 00
S 2.3 0.5 2.7 0.0 0.0 4.5 0.3 14
o 0.0 0.0 2.5 0.0 00 935 00 00
AFZI 0.5 0.2 1.8 0.0 0.0 0.0 00 06
H= 2.5 0.0 0.7 0.0 0.0 0.0 00 920
2l 10.6 0.4 7.9 0.0 0.8 0.3 10| 00
QE 2ot 4.2 61.9 42 2.5 335 0.7 0.7 0.0
56 [f=<Sot 4.4 0.0 2.1 0.6 1.0 0.0 23 00
HF 2= Ol 0f 7.4 0.4 34 24 0.0 0.3 20 00
og 7.0 2.0 47 774 0.7 0.0 04 00
= 12.3 1.2 9.0 16 0.5 0.6 97 00
o3} 1.1 0.0 47 0.0 0.0 00 197 00
ot3| 0.0 0.0 0.9 0.7 0.0 0.0 00 00
7|E} 219 261 203 04 125 4.0 3.3 1.1
= 6.6 7.0 74 41 2.7 1.9 40 34
OIM/Z47| 3.9 3.1 1.0 3.2 2.7 1.5 1.8 13
o AAH 48 45 37 35 2.2 49 20 20
- UA/E5HH 5.3 39 6.3 22 5.0 43 10 14
=/t 54 7.0 2.2 2.8 2.9 4.4 0.7 16
oE/Dogt 19.2 0.5 16.7 0.8 0.9 0.4 20 36
o Lt X} 5.1 36 47 1.7 2.8 2.0 31 37
c= o A} 7.3 7.8 59 6.2 2.6 3.6 16| 03
30 C§ o|s} 8.3 24 41 7.1 33 14 47 01
o 24 40 | 10.5 33 7.5 26 45 3.8 24 24
=< 50 Cf 45 7.7 43 1.0 14 4.2 26 3.7
60 A| O|At 1.2 7.8 5.2 1.7 1.9 2.0 03 40
1=0|8} 2.5 7.8 2.0 2.2 1.3 1.9 19 00
o oy = 6.0 35 5.0 26 3.8 2.1 341 21
i CHSHl O At 8.4 6.7 6.2 5.8 2.0 41 14| 46
28 3.8 43 25.0 1.1 0.7 41 31 1.3
3XMOre oot 6.1 46 54 3.1 2.9 2.3 34 10
i@ 3-5 Motel ojot 6.3 7.7 5.9 2.9 3.6 2.9 2.3 13
| s Horg oAb 5.5 44 42 43 2.0 3.1 12| 55
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2.0 1.7 16 14 13 1.2 1.2 11 0.7 0.7
0.0 0.7 0.0 0.2 0.0 0.0 0.0 40 0.0 0.0
0.0 2.9 0.0 1.1 0.0 0.6 0.0 0.5 0.0 0.0
0.0 13.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.7 0.0 0.0 0.0 0.2 0.0 0.0 0.0 0.1
18 13.8 0.0 0.0 0.0 0.0 0.0 0.5 0.0 0.0
30.1 04 0.0 0.0 0.0 0.0 15.0 0.3 0.0 0.6
13 0.0 0.1 0.0 0.0 74 438 0.0 0.1 0.7
0.0 0.6 0.3 0.0 0.5 0.0 0.3 0.0 0.2 0.6
0.0 0.9 2.6 0.0 18.0 0.5 0.0 0.5 7.2 0.6
0.0 0.6 318 0.0 0.0 1.5 0.0 1.0 0.2 0.0
0.0 1.5 2.2 0.0 0.6 1.5 0.0 3.0 2.1 2.0
0.0 0.0 0.0 0.8 0.0 0.0 0.0 13 0.9 5.7
0.0 0.9 0.0 96.4 0.0 0.0 0.0 0.6 0.0 0.0
0.3 1.1 0.2 0.1 2.1 6.4 0.0 2.8 0.0 0.8
23 2.5 2.8 1.7 16 2.1 0.9 16 1.6 0.8
2.0 0.5 1.2 2.0 16 0.2 2.0 0.3 0.1 0.5
2.1 2.5 1.1 0.5 1.1 0.8 0.5 0.7 0.2 0.6
18 0.8 0.6 16 0.4 1.2 2.2 0.8 0.0 0.7
1.9 0.6 0.1 0.3 0.2 0.6 0.3 0.1 0.2 0.1
0.0 2.8 0.0 0.0 2.5 15 2.9 5.6 0.0 15
2.0 1.7 13 14 1.1 1.3 17 11 0.6 0.9
2.1 1.7 2.2 14 17 11 0.4 11 0.9 0.2
1.4 2.6 3.2 2.2 1.0 0.6 0.5 0.5 1.0 1.6
34 1.5 23 16 24 0.6 1.5 1.9 1.7 0.4
2.5 1.0 0.5 1.0 0.8 1.0 2.7 0.8 0.3 0.3
1.4 15 0.3 0.6 13 2.6 0.7 14 0.1 0.1
0.3 0.5 14 2.9 11 0.9 0.2 0.4 1.8 0.7
16 1.9 0.7 13 16 0.6 13 0.7 0.7 0.8
42 2.1 35 0.5 1.2 13 17 2.1 0.1 0.4
0.0 3.2 0.1 1.8 0.0 19.3 0.0 3.2 0.7 0.0
1.4 20 1.9 1.4 0.8 1.9 0.8 0.8 1.0 0.9
22 1.5 17 11 0.6 0.8 1.0 1.2 0.4 0.6
3.0 1.4 11 15 2.8 0.5 2.1 15 0.4 0.3
=A%)
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2018 o=l HEfZAL

6. Xl Ol==0fel &

(EH2L: %)

OF

=2l

T = cpoy | HHIBIOlE OfsAt S0 7|Et
A | 0.3 0.2 0.1 0.1 5.9
23} 0.0 0.0 0.0 0.0 5.0
o= 0.0 0.5 0.0 0.0 96
20| 0.0 0.0 0.0 0.0 7.7
AFZI 0.0 0.0 0.0 0.0 3.2
H= 0.0 0.5 0.0 0.0 33
Sof 0.0 0.0 0.0 0.0 43
%E ot 0.0 0.0 0.0 0.3 1.2
56 [f=got 0.0 0.0 0.0 0.0 26
HE 4 O 0f] 4.2 0.0 2.3 0.4 1.5
ol 0.0 0.0 0.0 0.6 17.3
<= 0.1 0.0 0.1 0.1 5.0
A%} 0.0 2.3 0.0 0.0 2.5
o4} 0.0 16 0.0 0.0 13.1
7| E} 0.0 0.0 0.1 0.8 6.9
N 0.4 0.2 0.1 0.3 7.1
ol X /A7 0.2 0.0 0.1 0.0 5.7
. AAH 0.1 0.2 0.1 0.1 3.9
= zel/=HH 0.0 0.9 0.4 0.0 9.5
oz /M etR 0.4 0.1 0.0 0.0 3.1
oE/agrt 0.0 0.2 0.2 0.0 26
i L X} 0.2 0.2 0.2 0.2 47
c= o X} 0.3 0.3 0.0 0.0 7.8
30 C} o|&} 0.4 0.5 0.4 0.4 43
o o 40 of 0.3 0.0 0.1 0.0 5.2
=< 50 Cf 0.2 0.3 0.0 0.0 6.7
60 M| O] At 0.1 0.0 0.0 0.0 7.7
DZ0|8} 0.5 0.4 0.4 0.1 6.8
. o = 0.3 0.2 0.1 0.2 48
o LSS Of A 0.1 0.1 0.0 0.0 6.6
FEH 0.1 0.0 0.0 0.0 17.8
3 MBt3 ojot 0.3 0.3 0.2 0.2 6.3
AT [ 3sdpe o 03 0.1 0.1 01 6.6
| s Hore oAb 0.1 0.2 0.0 0.0 48
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= AH3Y XA SAE

7. AN ol=20te| F &= Y
(2 %)
" o7 Xy

e V| 2| we ({%% NEEDE | 7h 4 ;,5'7[ R
A | 20.0 10.4 8.9 6.7 6.3 6.1 5.1 46
23} 0.6 93.2 0.0 0.0 0.2 0.0 0.0 0.1
o= 73.3 6.6 0.3 0.1 1.5 0.0 0.0 0.2
20| 0.8 1.1 0.0 0.0 0.0 0.0 0.0 0.8
AZI 0.0 1.7 0.4 0.0 94.3 0.0 0.0 0.5
He= 0.0 0.0 0.0 0.0 0.3 0.0 0.0 0.0
201 0.0 0.0 0.0 34.4 0.0 33 11.3 1.7
QE 2ot 0.0 0.0 0.1 0.0 0.0 0.5 2.2 0.2
56 =g ok 0.0 0.5 0.0 27.7 0.0 39.9 283 0.8
bk O Of 0.2 49 427 1.7 0.3 0.7 0.5 14.2
(=[=2 0.0 0.9 3.6 0.0 0.0 0.6 0.0 23
= 0.0 43 53.6 0.5 0.0 0.0 0.4 17.3
A5} 0.0 14.1 14.4 0.0 0.0 0.0 00| 418
oF s} 0.0 3.6 0.0 0.0 0.0 0.0 0.0 0.0
7| E} 11.6 3.5 2.6 49 0.5 1.6 1.6 3.1
NS 13.2 9.5 11.0 5.8 3.1 7.9 6.9 7.1
ol X /A7 20.8 73 11.2 8.2 6.3 7.5 5.5 3.9
. AAY 27.0 12.6 6.4 7.4 10.3 2.9 3.9 1.0
= ze/EHH 239 12.3 4.4 5.5 9.5 6.9 29 1.7
=/MatA 27.6 11.6 4.1 6.7 13.3 2.5 1.9 2.1
RE/goct 304 216 44 7.1 0.8 0.0 0.8 10.1
- L X} 193 9.6 9.9 73 8.1 6.4 6.7 5.3
c= of Xt 211 11.6 74 5.8 3.4 5.7 2.5 3.5
30 C o|&} 7.1 6.2 14.7 13.8 0.9 11.8 8.2 6.2
o o 40 Cf 16.6 9.1 11.9 7.5 2.7 35 6.7 7.6
=° 50 CH 288 11.6 6.0 2.0 7.2 3.6 3.5 3.4
60 A| O| At 30.1 15.0 26 1.8 14.2 3.7 1.6 1.6
InEXJ 14.2 76 12.0 5.8 11.5 15.1 6.2 2.1
o o = 189 10.4 11.0 6.7 6.0 5.6 5.8 6.2
o CHSHSl O] Ab 27.0 12.1 3.0 7.7 2.8 1.4 3.1 34
23 33 10.8 10.9 0.6 14.8 2.2 1.9 6.3
3 MOrgl ojot 22.2 11.1 114 6.9 46 6.3 46 5.0
i@ 3-5 A0t O)o 19.6 10.8 6.9 7.4 73 5.0 3.9 5.0
| 5 AOrg ofAk 16.6 8.9 6.4 5.9 8.3 6.8 6.7 3.8
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2018 Of|=Q1 AE{RA}

7. AN ol=20te| F &= Y
(2 %)
oo el =5} 8l ot
T & o0l TIA| St | OEa | oy | REL HEAL | HYTE
7|&IRt N
A | 44 29 2.2 2.2 2.2 2.1 1.9 1.6
23} 0.0 0.4 0.0 1.9 0.0 0.0 0.0 0.0
o= 0.5 1.5 3.5 1.1 0.0 0.0 0.1 0.0
20| 0.0 14 86.6 1.0 0.0 0.0 0.0 0.0
AFZI 0.0 0.4 0.0 0.0 0.0 0.0 0.6 0.0
He= 0.0 0.0 0.0 0.7 0.0 0.0 89.1 0.0
Sof 0.2 43 0.3 46 0.1 0.0 0.0 25.5
QE ot 52.6 2.1 0.7 32| 287 0.1 0.0 0.0
56 =g ok 0.0 1.2 0.0 0.1 0.1 0.1 0.0 0.0
bk O Of 0.4 5.2 0.0 0.5 0.0 0.4 0.0 0.0
== 1.3 45 0.0 2.2 0.6 54.1 0.0 0.0
= 0.5 6.5 0.0 27 0.3 0.0 0.0 0.0
A5} 0.0 11 0.0 33 0.0 0.0 0.0 0.0
oF s} 0.0 0.0 0.0 0.3 0.0 0.0 0.0 0.0
7| E} 224 8.9 4.0 10.2 10.7 0.4 0.3 0.0
NS 5.9 2.5 1.2 29 2.0 1.5 3.0 1.9
ol X /A7 23 3.0 1.2 0.9 2.5 2.7 0.5 1.6
. AAY 40 23 47 2.2 14 2.9 2.0 1.3
= ze/EHH 26 15 43 3.3 37 1.9 1.3 14
=/MatA 6.7 3.9 4.1 1.5 2.7 2.7 1.2 1.9
RE/goct 0.0 9.4 0.4 2.4 0.5 0.2 2.1 0.0
" o X} 26 2.2 1.5 1.8 2.2 0.9 3.0 14
c= o A 7.2 41 3.3 29 2.1 3.9 0.3 2.0
30 C o|&} 2.0 43 1.0 1.6 2.8 5.1 0.1 1.3
o o 40 Cf 1.9 43 2.7 3.4 35 1.2 23 3.0
=° 50 CH 6.7 23 3.8 26 0.6 0.3 3.2 1.7
60 A| O| At 7.0 0.8 2.0 1.9 1.7 0.7 2.8 1.0
InEXJ 6.8 0.5 1.9 0.7 1.2 1.1 0.0 0.2
o o = 25 3.7 1.7 25 3.0 21 1.6 14
o CHSHSl O] Ab 6.2 3.1 35 2.9 1.6 2.8 3.9 3.2
23 43 0.7 0.8 0.0 0.7 0.3 1.3 0.0
3M0rel ojgt 3.7 2.2 1.7 1.9 2.3 1.8 0.7 1.2
i@ 3-5 A0t O)o 7.1 33 2.4 1.7 3.2 1.9 1.1 1.6
| 5 AOrg ofAk 34 3.7 2.9 3.1 1.3 2.8 46 23




= 3% 2A SHE
7. A OlEZ0re| = gs AY
(E+2l %)
. Ot N e
= (ﬂﬁ%ﬁ 59 | RO | RER | gy | et | EEt | JE %ﬂéﬁﬁg‘
15 11 0.8 0.8 0.8 0.8 0.7 0.4 03 0.2
0.0 0.2 0.0 04 0.0 0.0 0.0 0.7 0.0 0.0
0.0 0.3 0.0 14 0.0 0.6 0.0 0.3 0.0 0.0
0.0 0.0 0.0 4.0 0.0 0.0 0.0 0.0 0.0 0.0
0.1 0.0 0.0 0.5 0.0 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 7.7 0.0 0.0 0.0 0.5 0.0 0.0
0.4 0.0 0.0 0.1 9.7 0.0 0.0 0.1 0.2 0.0
04 0.0 0.0 0.0 44 2.0 0.1 0.0 0.0 0.0
0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
1.7 0.0 144 0.3 0.0 0.2 1.9 0.5 03 4.0
0.0 0.0 0.0 0.6 0.0 0.5 15.0 1.0 0.0 0.0
6.0 0.0 0.0 1.2 0.0 0.6 0.4 0.9 11 0.0
16.6 0.5 0.0 0.0 0.0 0.0 0.0 13 4.8 0.0
0.0 879 0.0 0.3 0.0 0.0 0.0 0.0 0.0 0.0
1.7 0.1 0.0 0.3 0.0 55 0.0 0.0 0.0 0.0
2.0 11 10 13 0.6 15 1.2 0.4 0.3 04
1.7 2.0 14 0.5 1.7 0.2 0.6 0.2 0.5 0.2
10 0.5 0.0 0.6 04 0.5 0.4 04 0.2 0.0
10 0.9 0.1 0.2 1.2 0.1 0.1 0.3 0.2 0.0
0.5 0.3 0.2 0.6 01 0.2 0.1 0.0 0.0 04
0.1 0.0 25 11 0.5 0.0 0.0 13 0.7 0.0
18 10 0.5 0.9 13 0.8 0.5 04 04 0.2
10 12 13 0.7 0.1 0.7 10 0.3 01 0.3
24 19 0.8 14 0.2 0.1 1.2 0.1 0.6 04
0.7 12 13 0.7 0.9 0.5 14 0.9 0.3 0.3
2.6 04 0.6 04 21 0.1 0.2 0.6 01 0.1
0.2 0.6 0.7 0.5 0.5 21 0.1 0.1 0.1 0.1
1.0 24 0.7 0.3 0.2 0.3 0.4 0.2 0.5 04
2.2 10 0.8 10 10 0.2 0.4 0.1 04 0.2
0.6 0.3 1.0 0.9 1.0 0.9 15 0.8 0.1 0.1
0.0 1.8 0.0 0.1 0.0 19.3 0.1 2.5 0.0 0.1
18 10 0.3 0.9 04 13 0.9 0.1 0.3 0.3
14 0.8 0.6 0.6 0.6 0.3 0.6 0.2 0.2 0.3
0.9 15 1.9 0.9 18 0.1 0.6 0.9 03 0.1
—(A=%)
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2018 Of|=Q1 AE{RA} -

7. X Ol=&0ore| F &5 AY
(£ %)

7% Ahl | BE | OB ojmoR 3 TR |
A A 0.1 0.1 0.1 0.1 0.1 44 1000
235 0.0 0.0 0.0 0.0 0.0 22| 1000
S 0.0 0.0 0.0 0.3 0.0 84| 1000
iy 0.0 0.0 0.0 0.0 0.0 43| 1000
AFZI 0.0 0.0 0.0 0.0 0.0 1.8 | 100.0
== 0.0 0.0 0.0 0.0 0.0 17 1000
2l 0.8 0.0 0.0 0.0 0.0 30| 1000
QE 2ot 1.7 0.0 0.0 0.0 0.0 0.9 100.0
56 =2 of 0.0 0.0 0.0 0.0 0.0 10| 100.0
Hb2= O Of 0.0 1.8 16 0.0 0.1 17 1000
og 0.0 0.0 0.0 0.0 0.0 127 1000
= 0.0 0.0 0.1 0.0 0.0 37| 1000
o3} 0.0 0.0 0.0 0.3 0.0 1.8 1000
ot3| 0.0 0.0 0.0 0.7 0.0 71| 1000
7|E} 0.1 0.0 0.1 0.0 0.8 51| 1000
N e 0.1 0.2 0.0 0.0 0.2 43 1000
oI /Z 7| 0.1 0.1 0.1 0.0 0.0 53 1000
o AAH 0.3 0.0 0.1 0.1 0.0 29| 1000
- d/mH 3 0.1 0.0 0.4 0.8 0.0 76 1000
=/MetH 0.0 0.2 0.0 0.1 0.0 30| 1000
DE/2QEt 0.9 0.0 0.2 0.0 0.0 27| 1000
o Lt X} 0.1 0.1 0.2 0.1 0.1 33| 1000
c= o A} 0.1 0.1 0.0 0.0 0.0 61| 1000
30 CH O|3t 0.1 0.2 0.3 0.1 0.2 29| 1000
o 24 40 Cf 0.1 0.3 0.1 0.0 0.0 34| 1000
=< 50 Cf 0.1 0.0 0.0 0.3 0.0 47 100.0
60 A| O At 0.2 0.0 0.0 0.0 0.0 64| 1000
1Z0|3} 0.0 0.5 0.3 0.3 0.0 56| 100.0
o f = 0.1 0.0 0.1 0.0 0.1 33| 1000
nin CHSHSl O Ak 0.2 0.0 0.0 0.0 0.0 48 1000
28 26 0.0 0.0 0.0 0.0 14.6 100.0
3 MOt oot 0.0 0.1 0.1 0.0 0.1 47 1000
i@ 3-5 Motgl ojot 0.5 0.0 0.1 0.0 0.0 54| 100.0
| s Hore oAb 0.1 0.1 0.0 0.2 0.0 31| 1000
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= AH3Y XA SAE

8 Xtk 137t 92 Cl2BE A

(EHR1 %)

T = of OfL|2 2

A 23.1 76.9 100.0

e 10.9 89.1 100.0

Ol= 31.8 68.2 100.0

20 415 58.5 100.0

ALE 96 90.4 100.0

H=x 16.3 83.7 100.0

st 26.9 73.1 100.0

d= =9 274 72.6 100.0
S6t s 24.0 76.0 100.0
BFS A0 10.6 89.4 100.0

£8 315 68.5 100.0

A= 13.5 86.5 100.0

As} 14.2 85.8 100.0

ot} 22.6 774 100.0

7| Ef 30.8 69.2 100.0

M2 27.2 72.8 100.0

/A7 19.6 80.4 100.0

2o ddH 228 77.2 100.0
T /sy 21.8 78.2 100.0
a/™erd 7.0 93.0 100.0
RE/REY 455 54.5 100.0

e = At 25.5 74.5 100.0
o At 19.3 80.7 100.0

30 C} o|&} 22.1 77.9 100.0

o o 40 Cf 22.6 774 100.0
-° 50 CH 284 716 100.0
60 M| O] At 20.7 79.3 100.0

DZ0|38} 18.5 81.5 100.0

- o = 208 79.2 100.0
o CHshRl oA 29.2 70.8 100.0
£8H 425 57.5 100.0

3 Tt ojot 234 76.6 100.0

i@ 3-5 ©TtE Ojar 232 76.8 100.0
7 sHorg oAb 226 774 100.0
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(2L %)

T = of ofH 2 A

A 36.1 63.9 100.0

e 24.8 75.2 100.0

Ol= 39.1 60.9 100.0

S0 38.6 614 100.0

ALE 15.5 84.5 100.0

= 273 727 100.0

St 493 50.7 100.0

d= =g 49.7 503 100.0
S0 st 37.3 62.7 100.0
25 Ao 30.6 69.4 100.0

&8 52.4 47.6 100.0

A= 32.3 67.7 100.0

As} 24.8 75.2 100.0

ot} 19.1 80.9 100.0

7| Ef 429 57.1 100.0

M 2 36.8 63.2 100.0

/A7 413 58.7 100.0

2o R 34.7 65.3 100.0
T dA/syA 38.9 61.1 100.0
a/™erd 22.2 77.8 100.0
nE/EQot 29.8 70.2 100.0

e = 33.2 66.8 100.0
of A 40.6 59.4 100.0

30 Cf o3} 38.3 61.7 100.0

o o 40 f 456 54.4 100.0
=< 50 CH 32.0 68.0 100.0
60 M| O] At 29.8 70.2 100.0

=08} 25.8 74.2 100.0

st o o = 32.3 67.7 100.0
o CHsHRl oAk 493 50.7 100.0
£8H 423 57.7 100.0

3HTHY O|)Tt 36.3 63.7 100.0

FZ 35 merel ojgr 357 643 100.0
T s Aorg oA 35.9 64.1 100.0




= AH3Y XA SAE

(2L %)

T = of ofH 2 SHA|

A 9.2 90.8 100.0

e 45 95.5 100.0

Ol= 5.6 94.4 100.0

S0l 96 90.4 100.0

ALE 5.4 94.6 100.0

7= 5.1 94.9 100.0

st 7.4 926 100.0

d= =g 24.5 75.5 100.0
56 =g ot 7.0 93.0 100.0
2ES A0 43 95.7 100.0

&8 9.7 90.3 100.0

A= 7.9 921 100.0

As} 0.6 99.4 100.0

ot} 1.3 98.7 100.0

7| Ef 35.7 64.3 100.0

M 2 11.7 88.3 100.0

OIH /A7 7.2 92.8 100.0

2o R 7.7 92.3 100.0
T dA/syA 10.3 89.7 100.0
a/™erd 5.8 94.2 100.0
RE/RSH 5.9 94.1 100.0

e = 6.9 93.1 100.0
of X} 12.8 87.2 100.0

30 Cf o3} 7.6 924 100.0

o o 40 Cf 9.2 90.8 100.0
=< 50 CH 10.2 89.8 100.0
60 A| O|At 10.1 89.9 100.0

1nZE0[5} 6.2 93.8 100.0

- = 7.1 92.9 100.0
o CHsHRl oAk 13.9 86.1 100.0
£8H 239 76.1 100.0

3HTHY O|)Tt 9.6 90.4 100.0

7FT | 35 Morey ojor 113 88.7 100.0
T sHDIY oA 6.8 93.2 100.0
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2018 Of|=Q1 AE{RA}

11 K|k 1E72F XA SAH 25 84
(EH: %)

T & W= X149 | X 14 ol S A
A | 51.2 35.3 15.9 488 100.0
23t 46.5 34.9 11.6 53.6 100.0
0= 35.6 22.5 13.1 64.4 100.0
SO 52.5 36.9 15.6 475 100.0
N 51.6 335 18.1 484 100.0
H= 49.7 26.5 23.2 50.3 100.0
g9t 76.8 57.0 19.8 23.2 100.0
ds =4 75.5 64.9 106 24.5 100.0
5ot ES 56.9 40.0 16.9 431 100.0
HS A O 55.5 35.9 19.6 445 100.0
=F -] 57.7 337 24.0 423 100.0
A= 48.7 28.8 19.9 51.3 100.0
As} 28.7 13.1 15.6 71.2 100.0
oF 3} 37.9 224 15.5 62.1 100.0
7| E} 70.1 58.9 11.2 29.9 100.0
NS 59.5 36.3 23.2 40.5 100.0
o1:/A7| 39.5 34.6 49 60.5 100.0
. a4 54.3 37.0 17.3 457 100.0
- LA/EHA 51.7 429 8.8 483 100.0
2=/MatA 37.1 26.3 10.8 62.9 100.0
RE/RSH 57.7 29.9 27.8 423 100.0
. L X} 50.6 35.5 15.1 494 100.0
°= o X} 52.1 35.1 17.0 479 100.0
30 L) o|s} 475 27.5 20.0 52.5 100.0
o o4 40 Cf 56.6 37.7 18.9 434 100.0
=< 50 CH 55 421 129 44.9 100.0
60 Al O] At 485 37.3 11.2 51.5 100.0
TZ=0|8} 52 39.5 12.5 48.0 100.0
sta o = 46.8 31.2 15.6 53.2 100.0
o CHSHRl Of At 57.8 404 174 422 100.0
2SE 64 29.4 34.6 36.0 100.0
3 MO O|3t 52.8 332 19.6 47.2 100.0
i@ 3-5 M0kl O)o 49.8 36.6 13.2 50.2 100.0
| sHor ofat 495 379 116 50.5 100.0
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= AH3Y XA SAE

(EH2L: %)

7 e =) ot za | mwan | %8 )
A A 495 225 27.0 50.5 100.0
23} 48.8 413 7.5 51.2 100.0
0| 76.1 3238 433 2338 100.0
o 726 25.2 474 27.3 100.0
AR 36.2 236 12.6 63.8 100.0
H= 457 6.0 39.7 54.3 100.0
Sof 463 18.7 276 53.7 100.0
ds =4 329 115 214 67.0 100.0
56} el 57.1 27.2 29.9 428 100.0
Hb= 0l Of 18.1 8.0 10.1 81.9 100.0
og 236 2.6 21.0 76.4 100.0
o= 15.8 6.8 9.0 84.3 100.0
oI} 24 14.2 9.8 75.9 100.0
ot} 59.3 414 17.9 40.7 100.0
7| Ef 57.9 15.8 421 421 100.0
N e 50.8 231 277 493 100.0
ol ,/Z 7| 435 229 20.6 56.5 100.0
. a3 50.7 210 29.7 493 100.0
- LA/EHA 56.1 221 340 439 100.0
o=/t 47.1 242 229 53.0 100.0
pE/ooct 613 16.9 444 387 100.0
e Lt R} 51.5 216 29.9 486 100.0
°= o Xt 465 240 225 53.5 100.0
30 O o|&} 412 19.2 220 58.8 100.0
o 24 40 f 483 184 29.9 51.7 100.0
-° 50 CH 55.8 17.9 37.9 442 100.0
60 M| O|At 54.9 325 224 451 100.0
T=0|3} 44.9 24.0 20.9 55.1 100.0
. f & 46.6 217 249 534 100.0
o CHstR Of 4t 58.3 221 36.2 41.8 100.0
=i 43.8 339 9.9 56.2 100.0
34ekel ojgk 47.8 244 234 52.2 100.0
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i CHEHSl Of At 435 10.6 406 5.4 100.0
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o 43.9 56.1 100.0
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H= 67.9 321 100.0

Sof 51.3 48.7 100.0

g@ Zo} 61.6 384 100.0
5& =2 o 56.2 43.8 100.0
Hps o Of 70.4 296 100.0

og 58.1 41.9 100.0
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A} 67.6 324 100.0

Ot} 84.3 15.7 100.0
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N 2 55.7 443 100.0

oI% /A 7| 711 28.9 100.0

ol ZAAR 48.2 51.8 100.0
= Zl/=HA 47.1 52.9 100.0
e EE 52.9 47.1 100.0
BE/29ct 59.8 40.2 100.0

o Lt X} 59.3 40.7 100.0
c= of Xt 54.5 455 100.0
30 CH O[3t 56.6 434 100.0

or2y 40 Tf 56.1 43.9 100.0
50 CH 514 48.6 100.0

60 A O At 63.8 36.2 100.0
TZ=0|s} 60.9 39.1 100.0

o oy = 58.5 415 100.0
T sty oAb 54.1 459 100.0
£33 422 57.8 100.0
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AT | 35Hee o 542 458 100.0
B #0LS| O|Ab 58.4 416 100.0
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A A 36.8 198 7.0 7.0 6.4 37 | 194 | 1000
2} 36.6 102 8.1 0.5 2.0 08 418 1000
0| 53.8 135 74 22 6.1 18 154 1000
Z o 72.8 24 6.9 6.1 26 0.0 91 | 1000
AHZI 487 87 34 06 7.1 17 = 298 | 100.0
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gig = o} 29.4 18.0 3.1 15.3 2.6 49 @ 266 | 100.0
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Hh< 01 Of 324 28.0 20 8.2 6.1 64 169 | 1000
og 19.4 334 128 147 7.2 36 89 | 1000
= 26.3 354 4.8 47 @ 101 61 | 124 | 1000
o3} 324 439 23 6.0 5.6 36 62 | 100.0
ot} 31.9 283 38 0.1 32 61 | 266 | 1000
7|Et 28.8 14.4 63 146 5.3 29 | 277 | 100.0
S 319 21.6 7.7 838 73 60 167 | 100.0
Ol /Z 7| 55.4 133 16 44 44 11 198 1000
o A 25.9 27.4 32 8.4 7.1 39 | 240 | 100.0
S Z/ENA 25.9 40.5 5.9 55 | 107 31 85 | 100.0
o= /M atd 154 100 268 6.4 4.7 06 360 1000
DE/RStt 477 123 9.9 6.7 6.1 78 94 | 100.0
e Lt X} 37.6 19.1 5.8 73 7.4 41 | 186 | 1000
= of X} 355 21.0 9.0 6.3 4.6 30 206 | 100.0
30 Cf o|s} 27.7 29.3 9.9 8.0 28 73 | 150 | 1000
o 40 T} 30.3 25.4 47 8.7 6.1 54 194 | 1000
=< 50 CH 494 15.2 5.0 7.7 8.4 22 | 122 | 100.0
60 M| O|At 423 96 6.8 44 8.8 01 280 | 1000
TZ0|8} 383 17.1 8.1 11 17 51 @ 286 1000
. o = 347 222 6.9 6.9 76 39 176 | 100.0
S oysrel o)At 38.7 174 62 116 7.7 24 | 161 | 1000
oot 59.6 134 75 18 3.0 19 127 | 100.0
3%0re ojot 39.7 212 8.3 31 20 57 = 202 | 1000
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H= 14 220 18 521 177 0.0 50 @ 1000
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S 185 310 | 110 46 42 57 = 249 | 1000
OlF /A 7| 334 302 6.1 16 10 04 = 273 1000
o AA 268 @ 175 9.2 41 40 15 368 1000
= d/EEA 458 = 159 49 19 5.3 07 | 255 | 1000
==/ Bt Y 100 = 119 = 403 0.9 0.0 11 357 1000
pE/R2E 281 227 98 = 140 116 5.5 83 | 100.0
o Lt X} 250 233 129 44 42 34 269 | 1000
= of Xt 249 = 258 119 24 25 22 302 1000
30 0|3} 291 203 17.8 3.0 31 62 = 206 1000
o1 40 Cf 206 = 282 113 34 5.6 28 | 191 @ 1000
=e 50 CH 222 281 109 41 35 07 = 306 1000
60 A Of At 173 225 7.7 41 19 06 = 458 1000
REXE 248 192 @ 117 27 12 41 | 363 | 1000
o o = 259 = 241 152 3.2 23 27 | 267 | 1000
S oystel oAt 242 272 93 45 6.0 19 268 | 100.0
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56 WX 460 = 386 2.1 5.0 2.0 2.0 43 | 1000
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oIS} 409 = 294 0.0 42 | 122 4.2 91 | 100.0
ot} 478 @ 169 00 141 0.0 65 147 | 1000
7| Ef 27.1 92 | 232 5.1 34 05 317 | 1000
N2 476 = 260 8.9 39 2.5 13 9.8 | 100.0
OlF /A 7| 450 @ 317 83 9.0 1.0 0.9 41 | 1000
o A 427 @ 273 119 41 7.1 0.9 6.1 | 100.0
S g/sNA 533 | 183 @ 172 6.2 0.2 3.0 18 @ 1000
a=/MatA 466 = 227 | 103 119 0.6 6.2 18 | 1000
pE/ogct 456 @ 167 9.2 9.8 66 121 00 | 100.0
o Lt X} 459 | 239 9.6 6.4 33 1.9 90 | 100.0
c= o Xt 477 @ 273 111 5.2 24 2.7 35 | 100.0
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- 40 Cf 521 190 @ 166 7.2 13 14 24 | 100.0
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AHZI 64 | 103 404 159 34 | 198 37 | 100.0
H= 15 00 324 530 0.0 6.2 68 | 1000
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o5} 360 180 48 92 | 257 24 39 | 100.0
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(Bt %)

Aot HEY
T & 3Y A A gAef Y gls
M| 421 37.3 48 57.9
== 235 20.8 2.7 76.5
0= 31.7 27.9 3.8 68.3
S0 32.0 285 3.5 68.0
ALZ 11.9 8.2 3.7 88.1
U= 39.8 39.2 0.6 60.2
= 471 40.6 6.5 52.9
adg =29 36.6 35.7 09 634
56t Lsgot 397 335 6.2 60.3
HhS 10| 56.7 46.6 10.1 433
£& 52.9 485 4.4 471
o= 71.5 63.8 7.7 285
At 69.1 64.1 5.0 30.9
b} 71.5 65.1 6.4 285
7| E} 53.9 50.8 3.1 46.1
M 2 51.5 46.5 5.0 485
RH/E7| 40.6 36.4 4.2 59.4
. dd# 26.2 23.3 2.9 73.8
T /s 33.0 29.8 32 67.0
aF/™etd 404 29.0 11.4 59.6
RE/RSH 404 39.1 1.3 59.6
A e e At 40.9 36.2 4.7 59.1
°= of Xt 44.1 39.0 5.1 55.9
30 o8} 54.2 48.0 6.2 4538
o o 40 Cf 53.5 48.5 5.0 46.5
- ° 50 CH 39.7 35.2 45 60.3
60 M| O|At 22.5 19.1 34 77.5
Ikt 34.2 29.3 49 65.8
— o 46.0 40.8 5.2 54.0
R = RS 414 373 41 58.6
FEH 27.9 24.2 3.7 721
3 MGk ojgt 40.7 35.2 5.5 59.3
i@ 3-5 Met@ ojgr 45.9 41.1 4.8 54.1
7| sHore oAb 417 380 3.7 583
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= AH3Y XA SAE

(AletHZ B2A=2,107, T2l %, )

62

T = g 2 34 4d 5 | g WA | B2 | ERER
o

™ K| 268 193 | 16.2 5.7 94 226 | 100.0 5.6 10.5

st 378 | 241 | 146 77 55 103  100.0 29 2.8

263 198 146 49 | 157 188 | 1000 4.3 4.9

225 269 147 3.5 44 | 28.0 | 100.0 44 4.6

255 | 220 9.8 85 | 112 231 | 100.0 6.1 121

242 231 9.8 24 9.7 | 30.7 | 100.0 51 5.0

220 231 104 7.5 47 | 323 | 100.0 8.3 124

N2 02 (rQ ook o Hi oo Y > ok 2 Ho
Mok tot [ Jpi ol [rR (0o (19 |10 | K IrX 2 |y |
=19

d= 216 149 | 204 | 50 165 216 1000 55 7.5
56t CH 262 | 102 @ 152 60 | 103 321 1000 85 17.0
bt 204 151 @ 129 84 | 117 | 315 1000 94 19.6

309 211 @ 166 6.4 98 | 152 1000 36 41

288 | 227 | 166 7.3 64 | 182 1000 41 6.0

494 | 263 130 0.7 64 | 41 1000 26 43

539 175 @ 121 24 | 107 34 | 1000 26 3.8

135 185 | 309 3.2 31 | 308 1000 59 8.5

M & 274 | 195 195 5.4 71 211 1000 48 9.9

o1 /A 7| 264 | 182 165 64 130 195 1000 56 8.7

e AuA 294 | 233 8.4 62 | 111 216 1000 5.1 9.6
- ZR/58H 315 @ 256 8.7 3.0 96 | 216 1000 5.0 8.1
2=/ 222 | 114 8.2 60 | 112 @ 410 1000 79 9.8
RE/RSH 196 @ 211 @ 231 7.8 86 197 1000 11.3 243

. o X} 267 170 @ 141 58 108 @ 255 1000 6.2 12.3
c= o X} 270 | 227 194 5.5 73 | 182 1000 47 7.1
30 Cf O3} 314 | 196 @ 139 6.7 91 194 1000 55 9.7

o o4 40 Cf 205 225 153 5.9 92 266 1000 53 7.0
= c 50 CH 265 125 | 211 50 124 226 1000 47 5.6
60 A O| At 261 219 | 177 3.5 67 | 241 1000 7.2 18.9

=08} 259 226 118 47 76 @ 274 1000 66 15.9

st o o & 280 190 @ 1322 6.0 99 | 238 | 1000 55 8.3
o CHEtel of A 244 | 180 @ 253 5.2 94 177 1000 5.2 10.9
£33 395 | 171 61 127 97 | 149 | 1000 4.2 6.5

3MOL o8t | 277 | 214 | 157 5.9 93 | 200 | 1000 45 7.1

2; 3-5HM0tel Ojgt | 264 | 152 | 191 56 110 227 1000 5.4 7.8

5Xote o4 260 191 147 5.3 83 | 26.6 | 100.0 74 15.6
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2018 Of|=Q1 AE{RA} -

13. MEASE HZ U=
(I2HZ BERI=2,107, B2l %, )

72 14 21 3@ 4n | sE SR e mR | EEWN

A | 368 185 152 56 90 150 1000 40 7.8

28t 424 | 259 | 146 @ 44 67 60 1000 24 2.

0= 390 186 143 38 147 @ 96 1000 3.1 3.0

Zo 247 233 163 27 50 279 1000 41 35

N 328 | 127 70 56 204 | 215 | 1000 64 12.1

H= 291 189 100 25 99 297 1000 50 5.0

Sot 342 259 87 73 53 187 1000 57 10.3

QE =o} 309 167 154 52 165 153 | 1000 45 6.3
56t Eget 313 | 112 | 162 9.0 85 238 1000 64 16.7
Hb= o Of 269 191 126 @ 72 147 @ 195 1000 45 5.1

g 342 | 208 175 | 88 77 111 1000 31 31

o= 332 | 195 188 | 79 49 156 1000 37 5.4

A} 526 256 142 12 42 22 1000 21 3.0

Ot} 522 192 | 121 @ 26 113 | 27 1000 24 27

7| E} 472 132 177 @ 16 | 36 | 167 | 1000 3.1 37

N e 403 | 166 167 54 79 131 1000 3.7 9.6

OIH /A 7| 302 | 158 170 @ 70 @ 119 | 181 1000 45 5.2

- AAH 355 | 244 119 | 40 84 158 1000 338 5.5
ST AA/EHA 391 271 77 | 37 88 136 1000 36 5.4
a=/Mata 385 207 97 50 82 179 1000 3.8 49
/28 273 253 159 77 76 161 1000 50 7.8

. Lt X} 335 | 168 161 64 102 | 169 | 1000 44 93
c= o X} 417 | 210 138 44 71 121 1000 33 47
30 CH o|3t 371 | 205 138 | 77 77 132 1000 39 6.3

- 40 Cf 298 205 201 @ 53 96 147 1000 37 4.4
=< 50 L} 430 101 @ 119 @ 37 | 131 | 181 | 1000 39 49
60 N O|A 399 206 147 29 56 162 1000 47 15.6

TZ0|s} 387 | 182 93 | 76 101 161 1000 50 15.7

o iy & 364 190 152 54 94 146 1000 39 5.2
T st o)A 362 180 180 50 75 152 1000 36 5.4
2SE 455 66 198 18 111 | 151 @ 1000 4.3 6.8

340t ojgF | 392 | 172 156 55 85 | 139 | 1000 34 438

i@ 3-580rel oot | 368 | 213 | 135 48 | 110 @ 126 1000 3.9 5.8
' s5#Horg o/ 331 181 159 64 80 185 1000 49 118

72



= AH3Y XA SAE

14. EFEAH UM ALE OfF
ZEX=1867, £H2l: %)

T2 of OfL|2 A
A 44.7 24.9 100.0
a3} 46.5 243 100.0
o= 25.9 386 100.0
20 47.7 27.5 100.0
AFZI 404 304 100.0
A= 50.1 34.1 100.0
Sof 47.4 14.0 100.0
QE 2ot 49.9 14.0 100.0
5& [j=<Sot 415 22.6 100.0
Hb O Of 451 19.4 100.0
C 60.4 7.4 100.0
<= 61.8 11.5 100.0
A3} 47.4 347 100.0
ot3| 29.2 47.6 100.0
7| Et 43.2 36.5 100.0
M e 442 23.2 100.0
Ol M /47| 314 35.7 100.0
2o 44 62.7 204 100.0
- L/s8A 42.8 15.4 100.0
=/t 62.6 223 100.0
oE/ogEt 55.7 15.6 100.0
" L X} 44.7 26.8 100.0
o X} 447 2211 100.0
30 C§ o|s} 50.5 19.6 100.0
- 40 Tj 441 215 100.0
=< 50 CH 404 36.7 100.0
60 A| O|At 35.7 29.6 100.0
T=0|3} 39.8 27.9 100.0
o oy = 485 20.7 100.0
o CHSHRl O] 39.8 32.1 100.0
FEH 48.2 13.3 100.0
3 MOt ojot 50.2 17.6 100.0
AP T 39.6 336 100.0
| s more o 405 29.1 100.0
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(BEAAUM A8 B&A=835, ThHel: %, 7)

72 14|23 3@ 4n | sA o 8L e mR | R

A A 398 229 119 63 49 | 143 | 1000 34 5.2

23} 478 | 249 164 06 44 59 1000 23 2.2

0| 485 | 292 45 56 49 73 1000 24 2.5

Z0f 80 | 433 55 20 20 394 1000 43 31

N 340 300 00 136 104 | 120 | 1000 3.2 2.8

= 290 125 75 06 101 @ 401 @ 1000 60 5.5

Sot 334 315 100 34 17 | 200 | 1000 53 11.3

QE = of 285 | 120 181 @ 99 158 @ 156 @ 1000 57 8.3
56} &9 353 185 158 139 11 154 1000 39 438
Hb o1 Of 368 146 92 45 156 193 | 1000 4.1 49

og 359 218 154 102 @ 54 113 | 1000 3.0 29

o= 363 220 124 84 50 159 | 1000 3.1 43

o} 623 284 87 00 00 06 | 1000 15 0.8

ot3} 406 | 380 162 00 00 53 1000 25 36

7| E} 475 | 224 146 02 06 147 1000 32 42

N e 439 | 205 123 59 38 135 1000 33 5.8

oK /A 7| 368 194 132 93 60 155 | 1000 37 42

o 448 348 240 @ 116 40 79 177 1000 43 6.4
= ZU/EHA 403 | 327 97 61 49 64 1000 25 27
23 /MetH 357 194 113 90 68 179 | 1000 36 3.8
BE/29ct 294 | 487 84 15 07 113 1000 27 2.7

. SN 360 208 112 76 52 192 | 1000 41 6.2
e = of X} 453 | 259 128 45 45 70 | 1000 25 3.0
30 CH o|st 414 | 235 135 73 42 101 1000 34 6.2

- 40 Tf 406 | 221 147 54 55 117 1000 34 47
=< 50 CH 405 | 117 87 52 83 256 | 1000 39 4.5
60 A| O At 301 395 40 64 11 | 190 @ 1000 32 31

TZ0|3} 371 267 97 82 88 | 94 1000 34 7.9

. oy & 440 | 217 100 59 35 149 1000 33 438
ST sk oAt 315 241 162 66 61 155 | 1000 36 4.0
2SE 303 162 329 00 81 125 | 1000 5.8 9.2

3AOLe o9t | 445 198 121 | 70 @ 42 125 1000 3.0 3.8

i@ 3-540rel O/t 347 309 101 @ 78 46 120 | 1000 35 5.5
7 sHOE O)AF | 347 223 0 129 39 | 66 195 1000 43 7.0




= AH3Y XA SAE

16. J=otA o=l Aef A=
(I2HZ BERI=2,107, B2l %, )

7 g 07 | 12 | 2% | 3d |43 | sA | SR | A me| EE

H | 35 300 | 172 162 53 82 195 1000 46 87

23} 13 388 246 119 75 81 77 1000 26 23

Oj& 31 298 | 157 163 35 139 178 1000 38 37

20 12 229 253 147 @ 35 44 280 1000 43 46

ALl 80 252 242 68 85 74 199 1000 55 117

Uz 00 287 198 88 24 96 307 1000 51 50

g9 68 262 201 73 69 65 263 1000 67 | 115

A= =0} 00 267 169 162 | 50 155 197 | 1000 52 | 75
56} =St 43 | 250 114 | 154 | 62 94 283 1000 7.7 | 167
9510 77 219 186 84 55 89 290 1000 57 | 1022

28 60 317 165 157 84 92 126 1000 33 40

d= 21 327 215 151 78 | 46 162 1000 38 @ 59

A3} 32 537 232 114 29 35 21 1000 20 | 29

o3} 97 503 146 94 33 | 93 34 1000 24 39

7| Et 01 238 98 410 19 18 217 1000 43 52

N2 40 317 175 183 | 58 60 168 1000 42 | 97

oIK /27| 38 275 | 153 171 49 125 189 | 1000 46 | 61

e 4 50 331 204 119 40 86 171 1000 44 94
= Ze/syd 31 371 238 80 32 63 184 1000 43 | 75
Zz/MetA 01 231 112 89 60 104 403 1000 76 94
E/28E | 00 204 216 264 70 86 160 1000 44 66

. o A} 33 299 157 141 56 96 216 1000 50 | 102
c= of &} 37 302 | 195 194 48 61 164 1000 40 | 59
30 cf o|st 47 | 326 196 124 67 78 | 161 1000 47 | 88

o 40 T 31 270 185 161 66 7.8 209 1000 43 | 55
=< 50 Cf 15 289 99 225 38 116 218 1000 43 | 51
60 Al Of At 35 297 | 183 186 16 53 230 1000 53 147
1Z0|s} 77 1299 182 108 58 | 65 211 1000 54 | 151

. o = 28 319 174 133 56 84 205 1000 46 7.2
' Ot o4 24 259 163 | 251 48 86 169 1000 42 @ 65
S 47 385 182 154 00 97 136 1000 39 | 65

3MOHe OB 44 332 175 148 51 74 176 1000 38 60

i@ 3-548kel 0|2t 12 271 | 167 | 216 52 109 174 1000 47 | 70
| SHDIR O] | 40 273 173 141 58 | 73 244 1000 60 | 127
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2018 Ofl=2Ql MEfZA} ==
17. 88E-2Gt At ofF
(A HZ FEX=2,107, Tl %)

T & of oL 2 SHA|

LS| 9.6 90.4 100.0

23t 7.7 923 100.0

0= 5.4 94.6 100.0

S0 0.0 100.0 100.0

ARl 8.0 92.0 100.0

A= 2.6 97.4 100.0

=< 8.2 91.8 100.0

%E Zot 4.4 95.6 100.0
S0f &= 6.5 93.5 100.0
HFS A0 213 78.7 100.0

£8 5.3 94.7 100.0

A= 8.9 91.1 100.0

okl 13.9 86.1 100.0
ok} 32.3 67.7 100.0
7| E} 15.7 84.3 100.0
M2 11.4 88.6 100.0
RAHM/ZE7| 9.9 90.1 100.0
o 443 7.6 924 100.0
- BA/EZHA 4.1 95.9 100.0
ax/™erd 29 97.1 100.0
RE/RSH 14.0 86.0 100.0
e = Xt 9.0 91.0 100.0
o X} 10.5 89.5 100.0
30 C o|s} 10.3 89.7 100.0
o o4 40 Cf 15.6 84.4 100.0
=< 50 CH 6.0 94.0 100.0
60 A| O|At 2.3 97.7 100.0
e 12.3 87.7 100.0
st o o = 7.6 924 100.0
o CHsHRl oA 11.8 88.2 100.0
£ 15.5 84.5 100.0
3 Tt ojot 10.7 89.3 100.0
i@ 3-54atH Ot 8.8 91.2 100.0
| 5HTrg ofA 8.5 915 100.0
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= AH3Y XA SAE

18. F8A-2E5H A<t &8 <5+3E>
(R Ao AEX=202, T2l %)
QHFRO[ T o
RN N Ik ol

= A 50.7 27.0 186 126 8.0 0.7
23} 21.2 59.9 0.0 8.1 10.8 0.0
o0& 50.7 345 7.6 12.6 294 0.0
20] 39.8 0.0 231 37.1 0.0 0.0
AR 100.0 16.0 0.0 0.0 0.0 0.0
= 19.6 276 37.3 253 0.0 0.0
Sl 335 51.1 0.5 483 0.0 0.0
QE 2ot 52.0 26.5 19.3 9.3 0.0 0.0
5ot st 58.7 217 15.8 9.8 11.2 18
Hb 2 O Of 9.9 67.0 13.3 5.8 0.0 40
og 45,0 16.0 383 11.1 9.0 1.9
<= 42.9 319 18.1 18.8 0.6 0.0
o} 39.1 276 17.4 304 5.1 0.0
ot} 80.4 234 9.6 11 39 0.0
7| E} 52.0 17.0 214 16.6 46 1.1
N 2 62.3 207 12.8 15.1 7.9 1.1
OIXM/A7| 403 274 299 44 5.0 0.0
e AAE 26.0 3238 41.0 221 220 14
- Ze/mHH 314 316 29.3 8.8 15.1 0.0
W ESETE 57.8 0.9 12.7 233 74 0.0
RE/2ZE 11.8 94.1 0.0 5.9 0.0 0.0
o L X} 52.0 17.0 214 16.6 46 1.1
c= o A} 49.0 39.7 15.1 7.7 12.3 0.2
30cH o3t 54.0 30.2 26.6 12.5 4.2 1.4
of 24 40 Cf 46.1 26.2 13.8 10.1 11.6 0.0
=< 50 Cf 614 19.7 24 211 11.3 0.8
60 A| O At 26.8 229 35.2 15.1 0.0 0.0
TZE0|8 485 7.7 208 25.7 2.6 1.6
o & 475 311 265 8.9 13.1 0.9
o CHSHSl oAk 50.6 335 8.5 10.7 43 0.0
23 142.8 15.3 0.0 0.0 13.3 0.0
3 MOt O|gt 64.1 25.9 16.2 13.4 3.5 0.6
AT [ 3sdure o 53.0 354 96 7.9 92 | 05
| s5xorel ofAt 213 22.0 315 15.2 16.2 1.2
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2018 o=l HEfZAL

19. Xtk 1H7F Aorg

=X
o .

D AR EH(EITH3 )

(N2 B&A=2,107, T2l %)

T = T A MEHA A

A | 22.7 77.3 100.0

e 213 78.7 100.0

Ol= 233 76.7 100.0

S0 15.1 84.9 100.0

ALE 451 54.9 100.0

el 0.5 99.5 100.0

=< 30.6 69.4 100.0

g 2% 114 88.6 100.0

50} s 25.1 74.9 100.0

BS A0 33.7 66.3 100.0

F& 15.5 84.5 100.0

A= 16.6 83.4 100.0

A5} 9.7 90.3 100.0

ot} 16.1 83.9 100.0

7|E} 29.9 70.1 100.0

M 2 236 76.4 100.0

IH/A7| 16.0 84.0 100.0

e ddH 193 80.7 100.0

S Z/sHA 17.2 82.8 100.0

a/™erd 427 57.3 100.0

nE/mgoLt 15.9 84.1 100.0

e = 20.5 79.5 100.0

of X} 26.0 74.0 100.0

30 Cff o3} 20.9 79.1 100.0

o o 40 Cf 19.5 80.5 100.0

=< 50 CH 26.3 73.7 100.0

60 M| O] At 27.7 72.3 100.0

=08} 27.8 72.2 100.0

st o o & 21.0 79.0 100.0

S e oy 22.7 773 100.0

£38H 36.8 63.2 100.0

3HOHY O)gt 24.6 754 100.0

i@ 3-5 Mar@ ojar 25.9 74.1 100.0

| s ™ok o4t 17.0 83.0 100.0
%2 1EZF HZS Aot =, Al|zto] 7 &ACE Zof 3771R| S Zak
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20. Xl 187+ kg

A

7| ZH|CH374)

= AH3Y XA SAE

(AletHZ B2A=2,107, T2l %, &)

174

1742 O

3748 Oy

6742 Ok

T~
Hr

= b SENE Rtk Dmoe on ¥ B 8
A A 12.2 39.2 28.8 11.1 87| 1000 39 5.9
St 5.1 25.7 10.8 419 164, 1000 81 105
0= 20.6 34.4 29.7 6.2 90| 1000 32 3.7
20| 9.9 31.1 40.0 11.1 80| 1000 35 3.5
N 21.4 54.8 13.1 49 58 1000 27 45
H= 0.9 16.6 493 243 90| 1000 49 33
=Xel; 13.9 28.6 36.0 75 139/ 1000 41 48
g{g Zof 16.0 25.0 35.7 60 17.3| 1000 46 9.1
56 =g ot 17.1 60.5 6.8 7.5 82| 1000 33 6.7
b2 O 0f 14.7 423 27.9 8.2 69 1000 34 48
og 8.2 473 289 7.1 84| 1000 35 3.6
= 48 475 40.1 42 34/ 1000 31 4.8
A} 5.6 16.8 56.5 12.4 87| 1000 43 33
ot} 2.5 11.3 9.2 456 314 1000 107 9.8
7| E} 8.5 36.7 238 25.0 60 1000 4.2 6.8
M2 8.0 40.3 32,5 10.1 92| 1000 40 5.6
ol x/ZA7| 18.8 36.4 26.2 11.2 75| 1000 37 6.2
S 443 5.6 39.9 29.9 126/ 121 1000 46 7.9
- HBA/BHA 7.0 37.1 27.8 153 129 1000 46 5.4
2z /M2t 34.5 40.5 13.8 7.7 34, 1000 22 3.8
RE/RSH 0.0 39.3 316 213 79/ 1000 44 5.2
. o X} 12.6 413 28.7 8.7 86/ 1000 37 5.4
e = o At 11.6 35.9 29.0 14.7 89| 1000 42 6.5
30 o|s} 9.4 458 26.0 96 93| 1000 40 7.2
o o 40 Cf 12.2 35.5 30.3 13.8 82| 1000 40 4.8
=< 50 CH 12.4 37.9 31.9 10.3 75| 1000 34 43
60 M| O| At 19.6 29.3 29.6 11.8 97| 1000 39 5.2
DZ0|8} 17.2 40.8 221 10.0 99| 1000 42 6.5
opm o = 11.2 39.8 30.1 10.1 88| 1000 38 5.1
o CHSHSl O] At 12.0 36.6 29.8 13.8 78| 1000 39 6.8
23 0.9 46.5 31.9 105 102 1000 47 8.1
3xokel ojgt 10.4 411 31.9 96 71/ 1000 36 5.2
i@ 3-5 M0k Ojot | 114 39.9 226 145 117 1000 40 48
T s o ol 15.9 35.4 29.0 10.8 89| 1000 41 7.5
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2018 Ofl=2Ql MEfZA} ==

21 K| 17 AR - Az H(=[CH3H)
(AN Z ABXF=2,107, T %, THE)
g 0RE | ey | obey | ooy | oRE | w4 | mR | 3o | mEMN
= A 16.8 67 399 163  203| 1000 4258 2157 9664
23} 20.2 55 407 253 83 1000 2939 2923 7290
0| 160 117 334 240 149| 1000 3922 2437 11148
20 23.8 38 559 7.0 95 1000 296.6 183.5 5581
ARZI 28.6 84 464 44 122 1000 3159 1311 669.0
== 43 3.0 7.1 18 838 100.0 2647.5 1622.6 27914
Sof 18.6 87 523 6.6 137 1000 3551 2147 8965
QE ot 28.1 6.6 437 94  122| 1000 2453 1284 4092
56 [j=<got 20.1 39 501 134  125| 1000 259.8 2013 300.6
Hb = of Of 19.9 51 150 360 24.0| 1000 5255 347.8| 1036.8
=K1 125 42 574 111 148 1000 3074 1809 4610
o= 10.7 83 516 123 17| 1000 3367 1658 680.7
A3} 6.2 25 112 60 741 1000 8313 531.1 10505
ot} 16.9 15 9.3 67 656, 1000 7224 6101 8281
7|E} 22.2 31 439 185 123| 1000 3465 150.0 804.9
N e 17.4 65 408 141  212| 1000 4491 201.3| 1069.8
OI% /A 7| 9.1 34 397 234 243| 1000 4113 2527 617.2
e AAA 12.9 88 477 155  150| 1000 451.8 213.7 1203.0
= z/sNA 14.9 99 439 157 155| 1000 3754 2147 858.2
=/t 417 119 245 109 110/ 1000 2311 500 5481
[R=Yi=R=Y; 7.8 62 404 178 27.8| 1000 6940 2437 1381.6
. L X} 16.6 59 377 168 230/ 1000 4761 217.8 11063
c= o X} 17.0 78 432 156  164| 1000 3512 2000 703.5
30CH ot 17.9 65 446 134 176 1000 339.0 2013 6124
- 40 Cj 16.4 73 350 172 241| 1000 483.8 2157 10414
=< 50 CH 112 31 411 197 250| 1000 490.1 243.7| 11237
60 Al O At 218 109 344 181 148 1000 473.6 2157 13034
TZ=0|8} 19.9 67 404 157 17.3| 1000 3611 201.3| 804.2
o oy = 18.2 69 380 156  213| 1000 4295 2147 9879
T CHEEY oAb 12.2 62 433 181  202| 1000 459.7 2157 1016.6
2SE 14.9 87 454 171  13.9| 1000 3054 1809 539.3
3 Mokl ojot 19.1 80 427 146  154| 1000 3074 2000 701.0
i@ 3-5M0rel o9t | 146 64 408 169 212| 1000 3984 2157/ 6559
| s Mo oAt 147 48 346 185 274 1000 6400 2437| 14134
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= AH3Y XA SAE

22. Xk 1EHZE AR - AY A57|2 =3 o5 (&E|T3A)
(IHZ ZBEA=2107, EH2I: %)

T = I o) o = & A
M A 37.2 62.8 100.0
gt 17.5 82.5 100.0
0= 10.6 89.4 100.0
20 15.3 84.7 100.0
ALZI 19.3 80.7 100.0
A= 25.1 74.9 100.0
2ot 486 51.4 100.0
%E Zok 59.3 40.7 100.0
=g]; S &< 312 68.8 100.0
BS A0 36.2 63.8 100.0
=N 70.9 29.1 100.0
A= 61.5 38.5 100.0
As} 31.6 68.4 100.0
Ot} 8.5 91.5 100.0
7|Et 451 54.9 100.0
N e 413 58.7 100.0
QH/A7| 27.5 72.5 100.0
P 448 440 56.0 100.0
- Ze/syd 473 52.7 100.0
=/MatA 26.7 733 100.0
RE/REH 448 55.2 100.0
. o X} 35.1 64.9 100.0
c= of A} 40.3 59.7 100.0
30 Cff o3} 435 56.5 100.0
o o4 40 Cf 35.8 64.2 100.0
=< 50 CH 39.7 60.3 100.0
60 M| O|At 19.6 80.4 100.0
DZ0|3} 31.5 68.5 100.0
. o & 35.6 64.4 100.0
o CHSHS O A 428 57.2 100.0
28 435 56.5 100.0
30t ojat 38.0 62.0 100.0
T [ 35 mere ojg 396 60.4 100.0
T sHDiY oA 337 66.3 100.0
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2018 0|zl HEfRA}

1 x| 1E7F ofgelel 741 & 49

(

s

B X}=4,049, ttQ|: %, BH2l)

. LFElel | 1%l | 23%All | 34Kl 4SFBI | SEHBI
T ojat jeF jeF feF ojeF ofl

A A 3.0 20.0 208 16.8 117 7.6

23} 4.1 213 19.0 19.7 9.8 6.9

Oj& 3.1 215 232 16.3 14.7 6.9

20] 17 14.8 15.2 126 5.5 14.3

AR 0.9 13.0 164 15.2 16.0 9.4

= 0.0 0.0 8.3 113 39 7.9

gof 15 14.7 17.8 20.5 10.3 9.0

QE 2ot 17 26.1 230 18.3 5.6 5.4

5§ =2 o 6.0 227 213 15.0 8.5 8.8

Hb= o Of 1.8 14.9 19.1 10.3 14.2 8.5

og 4.0 21.2 16.3 13.0 15.8 124

o= 31 25.5 268 15.3 8.4 73

oIS 5.2 24.4 213 16.3 12.7 37

ot} 1.0 25.7 15.4 17.6 11.0 14.0

7| E} 0.3 14.7 18.3 268 144 48

N e 43 216 210 17.1 8.4 4.9

OI% /A 7| 16 2238 20.0 16.3 12.4 10.3

2ol Z4H 3.7 19.7 21.7 16.7 13.5 6.9

T dA/syA 14 12,6 20.6 15.9 16.8 115

=/Meta 16 15.3 16.0 174 17.3 12.1

DE/2 St 2.0 19.2 3238 16.7 6.3 3.0

o Lt X} 27 20.0 218 15.5 12.2 7.0

c= of A 3.4 20.0 19.1 18.8 10.9 8.7

30 CH o|st 38 26.4 229 15.5 10.9 7.5

- 40 Tf 1.9 18.6 15.2 13.1 13.0 9.3

=< 50 Cf 19 115 194 19.0 13.4 9.0

60 N| O] A 38 20.9 239 19.3 10.1 5.3

TZ=0|s} 4.5 26.6 269 15.2 8.7 35

o i & 33 194 220 14.9 12.5 8.7

T CHBhe oA 15 15.9 15.9 204 12.6 8.5

S 4.2 450 35 320 0.3 1.8

3 M0t O|gt 6.5 414 448 1.6 2.6 0.5

i@ 3-5 Morel o|gk 0.0 0.0 0.0 57.2 384 0.5

| s xorel ofAt 0.2 5.1 25 16 0.2 26.1

A
e~
T
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L X' 167t ozl 77 5 4

ol
=

(

s

= A3 XA SAE

B X}=4,049, ttQ|: %, BH2l)

=
o

o o e & B 50821 HEEAL
6.2 3.6 10.3 100.0 42247 3000.0 5937.3
0.6 2.1 10.6 100.0 39955 3000.0 4156.9
7.6 1.1 5.6 100.0 3519.3 3000.0 27423
0.6 24 26.9 100.0 5467.5 5000.0 4076.7
94 47 15.0 100.0 4925.6 4000.0 4769.6

14.8 151 38.8 100.0 10291.8 7000.0 15082.6
5.9 7.2 13.2 100.0 47709 3500.0 4760.3
5.1 2.7 12.0 100.0 4223.6 2650.0 6014.5
3.1 5.2 93 100.0 4014.7 2960.0 4686.9
5.8 7.2 18.2 100.0 5375.9 4000.0 5379.9
4.1 3.3 98 100.0 39242 3500.0 2749.3
1.9 2.3 94 100.0 4082.2 2500.0 11629.8
45 3.0 9.0 100.0 37135 2720.0 4707.5
5.6 3.6 6.1 100.0 4044.7 3000.0 4331.6

10.3 3.6 6.9 100.0 39514 3000.0 34434
5.5 4.1 131 100.0 4446.0 3000.0 6027.2
48 44 7.5 100.0 3743.0 3000.0 3239.3
7.5 1.8 85 100.0 3867.2 3000.0 3741.1
6.3 5.0 9.8 100.0 4581.1 3840.0 4737.5
9.6 3.2 7.5 100.0 4076.6 3800.0 24934
47 0.3 149 100.0 5660.8 2000.0 18643.5
5.8 3.6 114 100.0 4315.9 3000.0 5342.5
0.7 3.7 85 100.0 4072.8 3000.0 6810.8
3.2 3.3 0.4 100.0 3676.8 2500.0 7487.2
89 6.3 13.7 100.0 5079.0 4000.0 5494.3
6.5 3.8 155 100.0 4582.6 3600.0 4040.9
7.2 1.7 7.8 100.0 3879.9 3000.0 54785
41 2.6 7.8 100.0 37191 2400.0 4712.2
0.4 3.5 95 100.0 40254 3000.0 4651.1
71 43 13.8 100.0 4953.1 3520.0 8243.8
21 0.8 43 100.0 27521 2000.0 2189.7
0.2 0.4 1.8 100.0 2255.2 2000.0 5989.2
2.8 04 0.7 100.0 3756.3 3600.0 1407.5

19.0 11.9 334 100.0 7846.1 6000.0 6869.3
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2018 Ofl=2Ql MEfZA} ==
2. 702 =2 T oegs =&
(SEfX=4,800, TH9l: %, BHel)
_ o wolgl | seLlmAll | 12%EIY | 23%Rl | 347N
T 89S ofat ifl ojat ofl ofl
A 28.8 27.4 10.7 13.2 74 44
28t 309 451 7.8 7.7 31 2.9
oj& 321 27.0 14.2 13.5 5.0 32
Zo 376 14.7 12.0 232 6.8 03
N 67.4 215 36 2.7 0.7 0.7
A= 20.1 17 3.0 31 7.8 83
Sot 346 272 8.1 110 6.8 5.6
QE o} 273 20.7 12.2 19.1 11.3 2.2
56t osset 15.0 385 10.6 14.9 8.4 4.2
HE2 ol Of 28.1 13.7 5.8 17.0 9.7 6.6
og 346 174 11.3 17.0 9.4 5.5
= 20.1 27.8 12.1 15.8 114 49
oIS 24.9 174 11.5 15.5 124 73
Ot} 18.0 16.6 74 16.7 15.9 6.9
7| Ef 19.6 28.8 11.7 13.2 10.0 8.8
N 2 27.5 304 9.7 12.3 6.5 36
OlF /A 7| 26.4 18.6 10.0 15.8 12.1 83
. AMH 371 29.7 7.8 124 5.0 2.5
T Y/sHA 314 27.4 133 14.0 5.1 35
=/t 25.0 33.2 10.2 13.0 9.4 42
BE/28t 28.2 222 29.7 10.5 0.6 20
e b R} 28.3 241 9.3 14.1 83 5.2
c= of A 29.7 32.8 12.8 11.8 5.9 32
30 Cf o|s} 203 306 13.1 17.3 8.6 44
o 40 Cf 213 26.1 11.0 134 8.1 76
=< 50 Lf 28.6 25.5 10.8 10.6 7.9 49
60 N O|A 44.1 26.4 74 104 5.0 16
T=0|3} 331 29.6 10.6 116 7.7 17
o iy = 25.4 27.4 12.1 14.3 8.0 5.1
T CHBhY ofAb 29.7 26.4 8.7 12.9 6.4 5.1
2eg 65.6 24.1 2.9 26 1.9 14
3M0HY Ojgk 29.5 31.9 14.0 13.7 8.6 03
L | 3sdorel o 28.8 26.0 7.4 144 6.6 124
7| sHorg ofab 275 205 7.2 113 5.7 5.3
—(H %
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- 3% ZA BB
2. 712l =% & Olags ¥
(S EXt=4,800, EFe|: %, THE)
e 2l e s | EEE
2.0 13 4.7 100.0 1281.2 300.0 4381.1
04 10 10 100.0 549.9 50.0 1575.3
18 0.7 25 100.0 868.8 300.0 1639.1
0.8 0.3 4.3 100.0 948.8 300.0 18455
13 0.7 1.6 100.0 329.0 0.0 1281.1
8.4 53 424 100.0 5808.1 4500.0 8021.1
0.8 21 3.7 100.0 11279 150.0 29574
14 0.5 5.3 100.0 1749.8 500.0 5681.2
18 11 5.5 100.0 1297.7 300.0 25599
3.0 53 10.7 100.0 2065.2 1000.0 30384
16 10 2.2 100.0 1029.8 400.0 1576.4
1.7 11 5.2 100.0 1891.2 500.0 10506.4
6.9 11 3.0 100.0 15103 700.0 3520.1
6.7 51 6.7 100.0 2177.0 1200.0 3824.7
2.6 0.9 44 100.0 13311 500.0 2051.2
10 11 7.9 100.0 1450.5 300.0 3568.0
4.6 2.3 19 100.0 13591 700.0 23324
2.3 0.8 2.5 100.0 861.2 200.0 23412
1.2 19 2.2 100.0 9291 300.0 19534
14 0.9 2.8 100.0 9175 200.0 16289
1.0 0.0 5.8 100.0 2291.6 400.0 16569.8
27 15 6.6 100.0 15054 350.0 3368.0
1.0 1.0 18 100.0 9199 250.0 5624.7
18 14 2.5 100.0 12456 400.0 6330.3
2.5 2.5 7.3 100.0 1754.3 500.0 3805.3
29 11 7.5 100.0 14324 430.0 2524.0
1.2 0.6 3.2 100.0 859.8 50.0 2916.8
0.7 1.6 3.5 100.0 962.5 200.0 2281.0
16 11 5.0 100.0 1301.7 370.0 31336
3.8 1.7 54 100.0 15259 300.0 6813.0
15 0.0 0.0 100.0 217.3 0.0 691.8
0.2 0.1 1.7 100.0 851.1 210.0 5198.1
4.2 0.1 0.2 100.0 1035.7 400.0 17228
3.7 4.7 14.3 100.0 2289.9 500.0 41111
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(2EHX}=3,936, CHY|: %, TH)

e oo 5 H40ig) SRRl 127l 23 Hiatg)

= #e Ot ot o2t ot
A A 46.9 18.3 10.3 117 5.8
28t 60.5 214 5.6 5.4 2.5
0= 486 16.4 12.8 12.8 49
20 39.9 17.8 8.6 114 37
N 80.2 11.2 35 1.2 1.2
== 65.5 2.1 3.8 12.7 3.1
Sot 303 213 9.0 15.8 10.3
QE o} 47.2 16.8 10.8 18.2 5.8
56 | OEsY 34.8 283 8.1 117 8.3
Hb o Of 443 13.5 48 14.0 7.1
og 342 226 9.2 18.6 7.0
<= 344 240 18.9 15.1 26
oIS 54.1 14.7 10.7 7.1 41
ot} 56.2 16.9 3.5 115 7.3
7| Ef 516 8.8 11.7 7.8 114
N 2 423 233 10.0 114 5.8
M/ 7| 0.9 8.5 22.7 430 17.3
2o a8 55.4 19.7 6.1 8.3 6.2
T dA/syA 53.0 10.0 9.8 122 5.5
=/t 69.3 46 6.1 10.2 38
BE/28t 26.9 18.5 319 8.0 18
o Lt X} 49.2 16.9 11.5 9.0 5.6
c= of A 431 20.5 8.4 16.0 6.1
30CH o3t 383 235 10.7 15.3 6.9
- 40 Cf 312 215 9.1 16.0 8.4
=< 50 Lf 48.1 14.6 15.3 8.5 7.1
60 M| O|A 66.7 13.0 7.0 7.1 17
TZ=0|s} 56.6 230 5.9 6.6 2.2
o iy & 46.6 16.5 12.8 12.2 6.0
T skl o)A 41.8 17.6 76 14.8 8.0
£ 35.9 29.7 28.5 0.5 1.4
Mot OJgt 44.1 25.8 13.1 11.2 5.9
AT [3sdpre o 514 113 7.7 14.0 5.2
7 sHorel oAb 487 8.4 6.8 10.6 6.2

d



= AH3Y XA SAE

3.7 =2 T oledd MU dAS) T
(SEAt=3936, £191: %, BHgl)
e Y | e Sty | oo B2 W EEE
34 0.8 0.9 19 100.0 7544 39.0 1976.3
13 0.8 0.3 21 100.0 4355 0.0 1320.3
21 0.8 0.8 0.9 100.0 569.9 39.0 1028.6
3.3 2.6 7.5 5.3 100.0 1323.0 130.0 22534
11 0.7 0.4 0.5 100.0 202.5 0.0 857.8
3.0 0.6 1.8 74 100.0 1961.5 0.0 7487.6
7.3 15 1.0 34 100.0 1152.2 400.0 1946.1
10 0.1 0.0 0.0 100.0 470.4 100.0 6714
3.2 13 0.9 34 100.0 1024.8 100.0 2502.5
6.7 14 0.1 8.0 100.0 1409.9 100.0 2648.0
5.2 0.2 0.2 2.8 100.0 895.3 300.0 1442.7
2.5 0.5 2.0 0.0 100.0 618.5 200.0 9874
5.0 0.9 2.2 14 100.0 690.7 0.0 1382.8
2.2 0.1 0.0 2.2 100.0 633.3 0.0 13451
77 0.5 0.2 0.2 100.0 743.5 0.0 13271
3.7 0.5 0.9 2.2 100.0 814.7 100.0 24229
21 2.2 0.0 3.2 100.0 1425.2 1200.0 12142
19 0.9 0.2 13 100.0 505.9 0.0 1192.2
4.5 1.7 17 16 100.0 798.3 0.0 1496.5
29 1.0 13 0.8 100.0 506.7 0.0 11410
6.1 1.0 1.2 4.7 100.0 11115 700.0 19191
34 11 1.2 21 100.0 791.1 10.0 2288.2
34 0.5 0.3 1.7 100.0 695.8 90.0 13314
4.0 0.2 0.1 10 100.0 712.5 150.0 1419.7
59 1.9 2.1 41 100.0 1237.8 300.0 2305.3
2.6 13 1.2 14 100.0 698.3 40.0 14764
1.6 04 0.6 1.8 100.0 4923 0.0 2455.8
18 0.1 0.6 3.2 100.0 661.2 0.0 2298.6
3.8 0.5 0.8 0.8 100.0 672.1 39.0 1927.6
4.0 18 1.2 3.3 100.0 978.5 100.0 1868.8
1.2 1.9 0.0 0.8 100.0 457.2 100.0 9214
0.0 0.0 0.0 0.0 100.0 3934 50.0 615.5
9.6 0.9 0.0 0.0 100.0 700.5 0.0 1080.0
5.0 2.6 3.6 8.1 100.0 15954 100.0 3638.0
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2018 Ofl=2Ql MEfZA} ==
4. 7191 =¢ & H|0= Y =
(SEAF=3,976, £H|: %, DHel)
» ol o 5 SHTER ] Mok | 128 | 23N 34 o
= S aj2k 0|2k 0|2k 0|2t O|2k
M| 56.0 13.1 6.7 9.2 5.6 4.2
23t 429 12.8 43 13.3 8.2 10.1
Ol= 66.5 11.0 6.3 5.0 45 3.7
20 69.9 6.1 2.1 41 7.7 0.0
ALZ 27.5 76 3.0 11.8 14.2 10.7
H= 79.3 3.0 0.9 10.1 2.0 0.8
sot 55.1 16.5 5.2 8.7 5.2 4.0
QE ot 704 6.6 7.8 5.0 5.6 3.1
56 HEs% 52.7 18.0 6.6 8.0 6.8 6.0
HE 2 01 0ff 55.5 9.6 8.0 10.0 6.7 2.5
== 60.9 12.6 7.9 9.2 35 0.7
o= 51.5 17.2 16.4 8.7 21 1.1
A} 53.6 173 10.5 11.0 43 2.6
O3} 75.5 93 8.1 45 14 0.0
7| E} 51.2 16.7 1.7 21.1 43 1.9
N2 59.1 15.8 6.9 8.5 46 2.0
ol X/ZA7| 13.7 16.8 7.0 16.9 14.7 15.7
e 448 60.2 9.7 7.0 8.9 48 3.3
T Ye/sHA 60.3 94 32 83 6.3 6.0
2z /M2 51.7 5.0 6.5 9.6 8.8 10.5
nE/BQLt 48.1 22.1 10.8 10.5 0.7 1.2
. L X} 52.8 124 7.1 9.2 6.4 5.3
e = of At 61.3 14.2 6.0 9.1 44 24
30 O} o3} 55.9 16.4 9.4 8.4 49 3.1
of 24 40 Cf 54.4 15.3 7.7 10.0 49 2.6
=< 50 CH 59.3 9.0 3.6 10.9 48 42
60 M| O] At 54.7 11.0 5.5 8.2 75 6.6
1Z=0|3} 51.5 14.5 6.7 12.5 5.5 47
o o = 57.0 13.3 7.3 73 6.1 4.0
TN e oAt 58.9 9.7 5.6 10.5 48 43
2SE 32.5 414 47 7.1 5.2 47
Mot Ojgt 53.5 20.7 10.7 10.1 5.0 0.0
AT [ 3sHpe o 534 49 3.1 117 8.2 12.7
R 64.0 42 14 48 46 54
—(A%)
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= H3Y ZA SAE
4,749l 9 F HojE XY 4
(SERI=3976, TS %, Br)
veime | oRmE | ofpe o 12 st REEY
1.9 11 2.2 100.0 777.2 0.0 17184
15 2.8 4.0 100.0 1296.6 200.0 2012.6
2.0 0.7 04 100.0 5135 0.0 1378.9
0.0 0.9 9.1 100.0 1159.8 0.0 27941
7.8 50 124 100.0 25433 2000.0 3133.7
0.0 0.1 3.7 100.0 701.0 0.0 2868.3
0.8 13 31 100.0 784.8 0.0 1698.9
0.4 0.1 0.9 100.0 4599 0.0 1109.6
0.9 0.2 0.8 100.0 6294 0.0 1116.0
3.5 0.2 41 100.0 848.0 0.0 1642.7
14 3.0 0.8 100.0 570.8 0.0 1367.1
1.2 0.7 10 100.0 5014 0.0 11494
0.0 0.0 0.7 100.0 466.8 0.0 933.9
1.2 0.1 0.0 100.0 206.2 0.0 608.2
19 0.9 0.2 100.0 627.8 0.0 12884
11 0.4 16 100.0 555.6 0.0 1447.6
5.6 2.3 7.2 100.0 20511 1600.0 2120.1
2.5 14 2.3 100.0 7914 0.0 1937.2
13 2.1 2.5 100.0 8754 0.0 1744.5
3.7 24 1.7 100.0 1153.5 0.0 1894.5
1.2 1.6 3.8 100.0 758.6 40.0 1819.9
2.6 14 2.8 100.0 929.9 0.0 1900.6
0.8 0.6 1.2 100.0 527.6 0.0 1332.0
13 0.2 0.4 100.0 5114 0.0 1087.5
17 0.4 31 100.0 750.7 0.0 1804.4
1.7 2.8 3.8 100.0 936.8 0.0 1927.6
2.8 14 2.3 100.0 961.8 0.0 1985.2
14 11 2.1 100.0 812.5 0.0 1644.3
2.3 0.9 1.7 100.0 725.8 0.0 1623.9
15 1.6 31 100.0 847.0 0.0 1933.6
0.0 11 3.3 100.0 773.5 300.0 1454.9
0.0 0.0 0.0 100.0 350.9 0.0 603.0
6.0 0.0 0.0 100.0 1021.3 0.0 1389.9
2.0 4.6 9.0 100.0 1470.2 0.0 2929.6
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2018 of=¢Ql HE{=A} =

5. Atk 17t of&Qlo] 7t & X|&E
(SEXF=4,098, £H9L: %, BHE)

s

= A 31 233 234 19.5 12.0 7.7

28t 48 233 20.1 19.1 124 8.5

o 38 2338 26.5 19.9 15.0 47

2o 29 145 18.5 12.8 12.8 14.1

ALZE 0.8 18.8 18.3 18.3 15.7 12.5

H= 0.0 25 8.5 14.0 10.8 20.4

Sot 16 16.4 20.7 20.5 125 14.4

QE =o} 11 343 243 16.3 11.1 6.7
5§ =S ot 4.1 25.0 219 20.4 8.4 6.3
HE2 O 0 23 16.4 216 15.0 137 12.1

og 28 236 285 14.9 8.6 8.4

A= 34 32.8 26.6 16.4 10.7 4.9

o3| 7.5 26.7 23.9 16.9 145 2.6

ot} 36 32.2 28.6 18.2 7.9 4.2

7|E} 10 17.7 23.0 32.6 7.8 8.9

N2 4.1 25.5 235 20.5 6.1 6.4

ol K /7 7| 16 239 23.0 17.1 16.0 8.9

e AMH 43 236 24.0 20.5 13.2 5.6
T dA/sNA 2.1 15.9 216 21.0 18.7 82
o=/ MatH 215 18.7 20.6 10.9
DE/R8Y 17.6 38.1 8.9 13.1

- Lt X} 231 247 123 73
of X 236 212 11.7 8.2

30 Of o|3} 323 23.7 9.0 5.4

o 40 18.0 20.0 14.2 114
= 50 Cf 14.2 23.6 16.4 10.2
60 M| O| At 253 25.5 10.0 5.1
1Z=0|8} 323 263 6.3 48

o iy = 236 241 13.5 7.2
TN it o4 16.3 212 134 104
2oLt 44.2 10.3 11 25

3 MOt Ojat 459 39.2 1.3 0.7

AT |35 morey oot 2.9 159 24.6 25
| 5HTke ofA 6.2 50 174 24.0

Ee
N
Jp
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= A3 A} EAE

5. K| 17t of=0le| 7t7 & K=
(SEXt=4,098, £H2l: %, THel)

dfop | oadp | om & e 3 HE
4.0 21 49 100.0 34114 3000.0 5261.7
4.0 15 6.2 100.0 4662.3 3000.0 17234.8
31 0.3 3.0 100.0 29411 2500.0 1925.0
6.1 9.0 94 100.0 4287.0 4000.0 2869.6
47 4.8 6.1 100.0 3861.8 3410.0 2579.0
16.0 6.7 210 100.0 6766.1 5000.0 6295.6
3.7 34 6.9 100.0 38944 3000.0 3640.7
2.8 0.2 3.2 100.0 2888.7 2500.0 2037.9
5.9 3.7 43 100.0 32435 2600.0 22516
5.8 3.2 9.9 100.0 4241.6 3000.0 3775.8
3.9 2.9 6.4 100.0 3259.6 2500.0 2266.7
1.7 13 2.2 100.0 2673.0 2000.0 1986.2
2.6 0.7 47 100.0 29421 2500.0 3738.1
2.8 10 14 100.0 2614.0 2000.0 1680.2
2.7 18 44 100.0 3431.2 3000.0 2926.5
47 24 6.8 100.0 3546.2 2500.0 76704
31 2.7 3.7 100.0 3297.7 3000.0 2628.1
3.7 11 4.2 100.0 3155.6 27200 2830.2
53 2.2 5.0 100.0 3761.5 3420.0 3042.7
2.8 13 0.6 100.0 31454 3000.0 15634
34 12 7.3 100.0 3654.7 2000.0 3464.7
3.7 2.0 5.0 100.0 3437.8 2800.0 6278.0
45 2.2 47 100.0 3366.9 3000.0 28154
3.0 13 3.2 100.0 2895.6 2300.0 26744
53 3.8 7.3 100.0 3857.3 3000.0 3017.5
49 2.2 5.5 100.0 3612.7 3000.0 2528.7
33 15 4.5 100.0 3465.1 2500.0 9171.0
2.3 2.8 4.3 100.0 3350.8 2050.0 10917.5
3.6 16 39 100.0 31954 2800.0 2605.6
5.8 24 7.2 100.0 3875.3 3000.0 3369.0
3.2 5.0 2.2 100.0 2573.0 2000.0 1800.1
0.2 0.1 0.9 100.0 1878.0 1800.0 1206.4
11 0.0 0.3 100.0 3345.0 3000.0 11504
12.9 7.3 15.8 100.0 5964.7 5000.0 92394
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2018 Ofl=2Ql MEfZA} ==
6. OlzoF oy X 2 XIS
(SEXF=4,797, THEl: %, 2t
T = As HNALA Ojgh [ 1-3HMGHA Djgb (- 3-5HiHA mjgh (- 5-8HMRIR ojgt
A A 36.6 15.0 20.5 9.6 9.1
St 345 28.0 215 6.1 5.5
0= 38.3 13.4 21.8 9.1 12.0
S0 315 9.1 14.7 14.0 14.5
AHZE 134 23.0 29.9 11.5 10.1
H= 48.0 5.7 17.3 49 9.0
%' Sot 305 19.0 184 94 115
% 2ot 343 13.8 21.7 13.7 6.6
= =22 41.9 12.3 16.1 9.4 6.8
OF b2 O 0f 47.8 8.5 16.5 4.8 10.8
og 323 12.4 18.0 10.1 12.6
A= 423 15.7 27.3 8.8 2.8
A%} 45.1 12.9 19.5 9.6 6.7
ot} 488 9.8 14.4 11.3 6.2
7| E} 26.1 14.1 14.2 16.8 11.9
N 33.9 11.7 20.6 12.0 9.5
RAHM/ZE7| 524 8.5 15.3 9.4 6.5
= HoH 389 11.7 285 6.1 8.4
A9 z/syA 432 114 199 10.0 6.9
Hz=/MaA 104 51.1 219 7.3 6.6
RE/RSH 22.8 16.0 16.2 3.7 30.5
e L X} 38.1 12.9 19.0 8.8 10.3
£ o X} 34.1 18.4 23.0 11.0 7.1
30 C} o|&} 37.7 15.4 19.5 10.8 8.5
o 40 Cj 34.7 134 224 7.6 9.5
E 50 CH 329 14.2 19.1 12.7 114
60 A| O|A 39.6 16.5 215 7.4 76
nZ0|8} 40.2 18.5 16.8 7.8 6.6
& o & 36.7 16.5 216 8.8 9.4
= CHSHSl O] At 34.7 9.9 21.2 12.6 9.2
F2H 27.1 18.1 17.4 48 22.2
7b | 3MTHe Ojgt 371 17.6 213 8.9 9.5
":[L 3-5 MOtel O|ot 37.0 12.2 213 11.9 8.8
E | sxOY oA 354 128 185 9.1 84
—(A%)



= AH3Y XA SAE

n

tX}=4,797, THSl: %, BH)

S

s

i

0.6 8.5 100.0 341.2 50.0 4208.8
0.6 3.9 100.0 1082.5 300 151534
0.1 54 100.0 230.0 50.0 5128
0.0 16.2 100.0 370.3 200.0 7299
0.6 116 100.0 3714 100.0 7337
0.8 145 100.0 345.0 50.0 680.7
0.9 104 100.0 328.9 100.0 975.2
2.7 7.1 100.0 383.5 100.0 13358
0.8 127 100.0 330.7 40.0 7054
0.6 10.9 100.0 307.0 100 611.3
16 13.0 100.0 332.6 100.0 5991
0.4 27 100.0 1227 50.0 2173
16 4.5 100.0 178.8 30.0 3471
0.7 8.6 100.0 1874 200 3113
0.0 16.9 100.0 405.0 150.0 1016.7
0.7 116 100.0 517.6 100.0 6494.2
0.9 7.0 100.0 2014 0.0 404.5
0.5 6.0 100.0 2236 70.0 7124
0.7 8.0 100.0 2644 50.0 7355
0.2 2.6 100.0 136.0 50.0 2363
0.0 10.8 100.0 355.8 200.0 510.1
0.6 10.3 100.0 395.2 60.0 53171
0.6 5.7 100.0 2543 50.0 834.7
11 7.1 100.0 242.2 50.0 623.7
0.6 11.7 100.0 3433 100.0 9254
0.4 9.3 100.0 2925 100.0 5983
0.3 7.3 100.0 489.0 50.0 7935.8
0.3 9.8 100.0 632.9 30.0 96014
0.7 6.2 100.0 2289 50.0 5198
0.6 119 100.0 350.3 100.0 9355
1.0 94 100.0 3344 100.0 5729
0.8 4.9 100.0 209.2 50.0 5929
0.4 8.5 100.0 260.7 100.0 494.6
0.5 153 100.0 650.6 100.0 79988
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(S EHX}=4,784, THO|: %, B+L)

T B o2 Luglel Ofpt | 13l 0jgt | 35uBiel oot | 58Blgl gt

A A 347 16.1 19.3 9.3 94

23} 484 224 15.8 5.6 42

oj& 17.7 16.9 243 13.4 14.1

20j 24.4 9.8 189 9.9 17.5

N 23.7 37.5 22.5 4.0 5.6

= 62.2 5.3 15.1 0.6 6.0

o =xel 317 143 20.2 8.9 10.1
g 2o 404 130 21.0 5.0 9.9
g liEee 42.0 118 16.6 73 126
of 425 0l o 56.3 11.2 13.2 5.4 5.4
og 338 114 15.5 9.4 10.6

o1 40.6 14.8 25.4 6.7 2.9

A} 497 17.1 148 7.1 438

ot} 63.8 11.0 136 35 1.0

7|E} 35.0 12.5 6.9 21.2 9.3

N2 35.7 13.7 17.9 114 9.9
OIM/ZA7| 42.6 12.2 16.2 9.0 74

A dd# 383 13.3 234 8.9 6.6
A9 | /s 33.9 200 202 6.4 8.4
=/ et 14.4 38.2 25.4 6.5 7.5
oE/29ct 20.7 10.6 17.0 39 3238

" ey 37.9 13.9 185 7.2 10.0
4 of X} 29.5 19.7 20.5 12.9 8.6
30 O O|s} 394 15.9 19.6 9.2 8.5

of 40 Tf 320 13.1 19.9 9.4 9.5
g 50 CH 29.4 13.0 17.4 13.3 12.9
60 A| O At 35.3 20.7 19.9 6.5 8.0
TZ=0|s} 41.1 19.9 189 74 438

s oy & 363 16.8 20.5 7.9 10.0
E CHSHS O] At 27.1 11.8 17.8 13.7 11.6
£38H 44.0 27.2 12.2 0.9 8.4

Jb | 34T oot 35.7 19.1 19.7 9.3 8.6
T | 3-5#0re ojot 29.4 14.1 185 13.2 11.3
E | 530K O|A 37.4 1222 19.1 6.1 9.6

3
X
s
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= AH3Y XA SAE

7. Ol=gs K&
(SERH=4784, TH9l: %, 2
ij E & i
11 10.0 100.0 309.8 60.0 763.2
0.2 34 100.0 144.0 10.0 507.6
0.8 12.8 100.0 381.7 200.0 651.6
14 18.0 100.0 404.5 200.0 486.7
0.7 6.1 100.0 2344 50.0 682.6
0.0 10.7 100.0 2984 0.0 1398.7
24 125 100.0 3904 100.0 1029.0
2.2 8.6 100.0 2224 50.0 384.6
13 84 100.0 2921 50.0 689.0
04 81 100.0 2523 0.0 799.0
0.3 19.0 100.0 578.8 100.0 12715
0.9 87 100.0 241.6 50.0 582.3
0.8 5.6 100.0 2181 10 835.0
0.3 0.9 100.0 116.2 0.0 290.6
2.8 12.2 100.0 370.2 100.0 10111
13 10.1 100.0 356.5 100.0 888.1
0.6 119 100.0 273.0 50.0 4958
1.6 7.9 100.0 2718 60.0 797.8
0.9 10.2 100.0 319.8 50.0 9944
04 7.5 100.0 1979 50.0 3286
2.2 13.0 100.0 409.1 300.0 501.0
13 11.2 100.0 3109 50.0 701.9
0.8 8.1 100.0 307.8 100.0 853.2
14 59 100.0 2178 50.0 625.5
13 14.8 100.0 398.9 100.0 9541
0.6 13.3 100.0 359.6 100.0 6721
0.9 8.8 100.0 311.3 50.0 802.6
0.7 7.3 100.0 2644 30.0 800.2
0.9 7.6 100.0 246.3 50.0 5824
1.7 164 100.0 463.0 200.0 087.8
2.2 51 100.0 141.0 20.0 270.3
1.1 6.5 100.0 2250 50.0 495.6
0.9 12.7 100.0 340.0 100.0 570.5
13 144 100.0 4425 100.0 11821
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2018 Ofl=2Ql MEfZA} ==
8. Xt 147t Olegs = +YUHA
(EHRl: %, BHel)
K}
7 g g zea | B A% S| e I
F__ HACD =B =] J'niH]HE X:LTL ol_|7§|:rll__| — =
= e
A | 225 | 209 @ 186 @ 180 7.3 6.2 5.8 0.6 | 100.0
gt 30.5 0.7 5.4 2.5 8.1 82 | 440 0.6 | 100.0
0= 27.7 06 | 107 | 505 7.1 14 1.2 0.9 | 100.0
S0 331 14 | 179 | 438 2.9 0.8 0.0 0.1 |100.0
ALZI 62.7 1.2 88 | 196 45 1.3 13 0.6 | 100.0
H= 13.0 00 712 9.7 1.2 1.8 1.1 2.0 | 100.0
Sot 205 | 378 @ 241 45 9.1 2.9 0.7 0.3 | 100.0
QE ot 228 | 491 @ 179 17 82 00 00 02 1000
56 =g ot 120 = 333 | 125 8.0 30 310 0.0 0.1 |100.0
HE 01 0ff 153 | 501 @ 233 5.2 2.8 0.3 2.7 0.2 | 100.0
=K =3 215 | 287 @ 339 5.2 8.2 0.0 1.7 0.8 | 100.0
A= 111 | 497 | 320 2.0 3.1 1.1 1.0 0.0 |100.0
A} 132 | 139 | 419 44 | 110 09 141 0.6 |100.0
ot} 13.1 0.0 2.6 6.3 6.0 99 | 613 0.7 | 100.0
7|Et 138 = 206 @ 228 55 | 25.2 2.5 76 2.1 |100.0
M2 17.6 = 233 | 243 124 7.8 8.0 6.3 04 | 100.0
olK/ZA 7| 23.0 | 241 179 @164 5.6 8.3 43 0.3 | 100.0
et AAA 314 | 174 @ 137 @ 228 7.6 2.0 4.2 0.8 | 100.0
- ZR/58H 291 160 @ 130 @225 9.8 42 5.1 04 | 100.0
2=/ 241 | 174 @ 108 @ 309 438 14 8.0 2.5 | 100.0
QE/ZSLt 18.1 89 148 264 134 66 11.8 0.0 | 100.0
. Lt X} 216 | 206 @191 | 189 7.2 6.9 5.1 0.5 | 100.0
c= o X} 239 | 213 179 166 7.6 5.1 6.9 0.8 | 100.0
30 Cj o|s} 141 314 | 229 9.6 61 107 46 0.7 | 100.0
o o4 40 Cf 142 = 248 | 220 @145 8.7 7.5 8.0 0.3 | 100.0
= ° 50 CH 234 | 163 194 | 267 48 3.5 5.1 1.0 | 100.0
60 M| O|At 37.2 99 | 11.0 | 234 96 2.3 6.1 0.5 | 100.0
=08} 291 261 96 146 7.6 7.4 49 0.7 | 100.0
o g = 194 216 | 205 194 5.4 6.7 6.2 0.7 | 100.0
o CisHel O] Ab 227 | 167 @ 218 | 186 96 48 5.3 0.5 | 100.0
23 377 | 113 @ 119 58 223 2.0 9.1 0.0 |100.0
34Orel o8k | 226 | 202 165 188 | 100 5.5 5.9 0.5 | 100.0
i@ 3-5M0tQl 0|8t 244 | 213 | 198 @ 177 44 54 6.1 1.0 | 100.0
| sHore olAF | 209 | 217 | 213 | 169 5.1 8.1 5.5 0.6 | 100.0
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= AH3Y XA SAE

(Bt %)

T & of OfL|2 24
S| 25.0 75.0 100.0
= 50.8 49.2 100.0
0= 8.6 914 100.0
S0 16.3 83.7 100.0
ALZI 5.8 94.2 100.0
Hs 11.7 88.3 100.0
29t 17.6 82.4 100.0
S 29 13.9 86.1 1000
S0t ] 77.6 224 100.0
2SS Ao 23.0 77.0 100.0
&8 9.7 90.3 100.0
A= 12.1 87.9 100.0
A5t 27.2 72.8 100.0
ok} 61.4 38.6 100.0
7| E} 10.3 89.7 100.0
M 29.3 70.7 100.0
QIH/E7| 31.0 69.0 100.0
e 88d 15.1 84.9 100.0
S /sy A 20.9 79.1 100.0
Iz /et 11.7 88.3 100.0
RE/REY 22.9 77.1 100.0
A e Xt 27.2 72.8 100.0
of Xt 21.4 78.6 100.0
30y o|s} 33.0 67.0 100.0
o o 40 Cf 29.6 70.4 100.0
=< 50 CH 21.7 78.3 100.0
60 A| O|A} 15.2 84.8 100.0
1nZE0[5} 28.4 71.6 100.0
— o £ 263 737 100.0
o CHstel oAb 21.1 78.9 100.0
£8H 147 85.3 100.0
3 MOt ojat 23.7 76.3 100.0
i@ 3-5HTA 02 22.2 77.8 100.0
| s HBrY oAt 292 70.8 100.0
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2018 Of|=Q1 AE{RA}

10. [ 23] Al 17 Zot0sdAt 2E 2

ool 3

- e | 02 | MY | B8 | oo | o | ms | oy | o5

T e W W | g% | g B TR ¥ S g

H | 18 62 15| 16 23 10 09 80 16

23¢} 53 38 09 09 15 05 04 77 11

el 18 148 08 07 05 04 02 58 10

30 33 123 09 06 09 05 02 87 32

AFZ 17 99 09 10 07 04 04 58 07

s 09 40 14 05 07 06 03 64 06

g9 10 17 98 10 09 11 05 62 14

A= =9 16 10 11 83| 13 06 13 44 12
5ot Es 07 11 09 06 07 08 03 96| 47
SEeRuly| 10 16 08 06 49 30 05 99 14

52 11 24 11| 22 20 12 85| 82 08

G= 10 22 08| 15 114 29 08 109 09

A3} 12 23 04 03 31 13 03 238 06

ot} 09 25 03 01 09 10 01 152 04

7| Et 42 54 23 63 21 10 24 55| 13

N2 18 59 15 18 31 12 11 89 18

oI /77| 18 55 15 12 23 12 08| 97 08

e Ay 18 79 19| 18 16 09 09 67 23
T ZH/sEd 21 66 14 20 12 04 05 65 11
Zz/MetA 16 54 10 15 10 03 04 39 09
E/28g 21 84 17 12 28 17 09 65 31

o Lt Xt 16 60 14 15 23 08 06 79 16
c= of &} 22 65 17 19 24 14 13 82 15
30t o|st 12 40 16| 13 33 16 11 115 20

o1 24 40 14 52 17| 13 28 12 08 91 18
=< 50 Cf 33, 80 18 24 25 09 11 68 12
60 M| Ot 18 81 11 16 08 04 05 43 13
1Z0|3} 12 49 07| 14 17 08 05 71 17

o o = 15 55 13 13| 28 12 07 84 16
T iy ofa 28 85 25 23 19 10 14 81 14
284 11 43 04 22 12 09 08| 45 11

3MPrel o 15 62 13 14 28 09| 07 79 | 15

AL 3sdoeiop 22 60 12 21 19 09 10 68 12
C sHmlolA 22 63 22 17 19 13 11 91 20
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= AH3Y XA SAE

11 [BEFEXA 23] K| 1E72E 220|sA 28 sl
Tl =)

O3 A CH=
78 Bl | a5 | B2 | o3 | mum | e8| ﬁE
A A 52 | 1138 47 49 6.2 43 28 133 6.1
25t 7.7 8.2 2.2 2.5 46 1.5 1.8 133 48
0j& 55 1638 23 1.6 1.2 1.0 09 107 5.5
=0 60 157 2.2 1.9 1.7 1.0 06 153 | 128
NN 34 | 106 3.1 3.1 1.5 1.0 1.9 9.1 33
A= 2.2 74 3.1 1.5 1.1 1.1 1.2 8.8 1.3
got 2.9 29 | 112 2.5 1.7 2.2 1.3 91 5.2
s =9 57 23 26 90 38 16 24| 69 55
56t sget 2.6 26 2.8 2.1 14 2.1 15 | 154 9.9
Hf 2 of Of 2.3 3.1 2.1 22 125 139 1.8 138 5.7
28 33 47 2.7 5.3 3.7 2.7 8.0 8.7 5.0
= 36 3.6 1.8 6.7 107 5.3 18 142 33
A3} 3.7 35 1.1 1.0 7.6 5.1 1.6 = 263 2.1
Ot} 2.2 5.0 0.8 0.6 2.5 2.8 08 | 242 34
7|E} 88 130 7.2 9.8 46 3.3 3.8 8.8 46
N 2 52 126 4.2 49 7.8 5.9 30 144 7.1
ol F/ZA7| 5.7 94 5.1 3.5 5.5 3.0 28 152 3.2
e Aud 52 141 6.3 74 42 2.6 33 107 7.6
- ZR/58H 41 | 109 35 49 33 1.2 19 108 3.7
=Mt 5.2 9.2 3.2 3.8 3.2 1.0 1.9 49 3.2
2/R QL 36 124 4.2 2.8 7.6 49 33 129 9.2
. o X} 49 | 115 47 49 6.0 24 23 138 5.8
c= of X} 56 122 4.6 49 6.6 6.2 36 123 6.5
30 Cf o|st 45 106 54 5.3 7.5 6.7 34 | 152 6.1
o o1 40 CH 37 101 4.6 34 7.5 35 26 149 7.7
=< 50 Cf 72 | 139 5.2 6.8 6.3 2.5 31 107 41
60 M| O|A 48 @ 118 3.2 34 2.1 1.1 21 100 5.9
nk-TokT! 35 103 33 3.6 46 2.5 22 | 141 6.1
. o = 42 | 100 3.7 36 6.7 5.3 25 | 133 5.8
R =T TGP 73 | 151 6.6 7.2 6.5 3.2 3.7 128 6.5
23H 3.0 9.5 1.3 3.2 24 2.7 1.6 6.8 43
3 Mot Ojgt 43 | 117 3.5 45 7.2 3.2 24 | 132 5.9
i@ 3-5#8L2 0|9t | 54 | 116 41 5.0 5.3 2.8 3.2 9.9 4.2
T s Hory oAt 62 121 6.4 5.5 5.0 6.3 33 153 74
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2018 Of|=Q1 AE{RA}

12, K|k 1320 2EF Sl [Fal AL
THel: %, 3))

T = o= 153 6102 | 113 ofy 2% Ry HHAL
A 66.5 25.6 438 32 | 1000 18 5.2
28t 234 50.3 14.6 116 = 100.0 5.3 7.7
oj& 67.2 26.0 45 23 1000 18 5.5
S0 524 29.3 10.6 78 1000 33 6.0
N 58.2 335 6.2 21 1000 17 34
S 68.6 29.3 17 04 1000 0.9 2.2
Sot 75.5 20.0 2.3 22 1000 1.0 29
g{g = o} 722 215 5.2 11 | 100.0 16 5.7
5ot Esot 80.7 16.0 3.0 02 1000 0.7 2.6
Hbs 0l 0f 68.7 284 2.5 04 1000 1.0 23
=¥=3 70.0 25.6 3.2 12 1000 11 33
<= 74.4 23.0 1.9 07 1000 1.0 36
oI5} 722 218 5.3 07 1000 12 37
Ot} 75.3 20.3 41 03 | 100.0 0.9 2.2
7| E} 59.1 206 6.0 144 | 100.0 4.2 8.8
N e 66.8 25.5 42 35 | 100.0 18 5.2
Ol % /Z 7| 72.9 19.0 5.3 29 1000 18 5.7
e BAH 66.3 26.0 438 29 1000 18 5.2
- ZR/58H 54.8 34.9 7.5 2.7 100.0 21 41
oH=/Matd 70.5 22.0 4.4 31 1000 16 5.2
DE/R St 41.1 53.2 2.3 34 | 1000 2.1 36
. Lt X} 68.0 25.5 41 24 1000 16 4.9
°= of Xt 64.1 25.7 5.8 44 | 1000 2.2 5.6
30§ o3t 75.0 20.9 2.5 16  100.0 1.2 4.5
o 40 68.1 24.8 5.9 12 1000 14 37
=< 50 Cf 50.2 36.6 6.0 73 1000 33 7.2
60 M| O At 68.3 23.0 5.5 32 | 1000 1.8 4.8
T=0|3} 75.1 18.6 47 16 1000 12 35
. iy & 67.4 25.5 5.2 20 1000 15 42
o CHBESl OfAb 58.8 30.5 42 65  100.0 2.8 73
2ot 72.5 237 2.0 1.8 100.0 11 3.0
3 M3t O3t 67.9 25.8 4.4 1.9 100.0 1.5 43
AL | 3sdmel g 679 | 215 45 61 1000 22 5.4
7| sxorg o 63.2 281 5.6 31 | 1000 2.2 6.2
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= AH3Y XA SAE

13. K|k 13H2F 22 si~[0l=HMA 2]
THel: %, 3))

T = o3 153 6102 | 113 ofy 2% Ry HHAL
A A 36.3 36.3 12.1 153 = 100.0 6.2 11.8
28t 40.2 431 9.2 75 | 100.0 38 8.2
Oj& 34 30.8 253 404 = 100.0 14.8 16.8
S0 9.3 309 28.6 311 1000 123 15.7
N 46 404 24.8 302 1000 9.9 10.6
== 26.0 58.5 111 44 | 1000 4.0 74
Sot 52.6 415 4.9 1.0  100.0 17 2.9
QE = o} 64.4 317 37 02 | 1000 1.0 2.3
5ot Es 64.5 31.0 3.5 10 | 100.0 11 2.6
Hb o of 57.4 354 5.2 20 | 1000 16 3.1
og 47.7 426 7.7 21 1000 24 47
= 46.2 46.7 37 34 1000 2.2 36
o} 436 46.1 8.1 23 1000 23 35
ots} 54.8 354 35 62  100.0 2.5 5.0
7|E} 53.0 27.6 5.9 135 1000 5.4 13.0
N2 349 43.1 9.6 124 1000 5.9 12.6
OI% /A 7| 40.8 324 12.0 149 = 1000 5.5 94
e AAd 321 34.2 15.4 183 | 100.0 7.9 14.1
- Zel/58H 37.0 30.8 15.8 16.4 100.0 6.6 10.9
=/MetH 39.9 30.7 13.5 159 | 100.0 5.4 9.2
2E/FSE 311 237 13.2 320 | 100.0 8.4 124
. Lt X} 387 34.4 11.7 153 | 100.0 6.0 11.5
c= o X} 326 39.4 12.7 153 = 100.0 6.5 12.2
30 O o|&} 494 36.0 6.8 79 | 100.0 4.0 10.6
- 40 Y 37.3 39.9 9.2 136 1000 5.2 10.1
=< 50 CH 26.5 37.0 15.4 212 | 100.0 8.0 13.9
60 A| O At 287 336 17.4 204 | 100.0 8.1 11.8
TZ=0|s} 47.2 31.2 11.3 103 = 1000 49 10.3
. oy & 36.3 38.8 104 145 1000 5.5 10.0
T ChE oAb 283 355 15.9 203 | 100.0 8.5 15.1
2SE 49.5 329 6.0 115 1000 43 9.5
3HTHY O] 34.8 39.6 9.9 15.7 100.0 6.2 11.7
i@ 3-5 A0rel Ojgt 376 338 14.4 141 = 100.0 6.0 11.6
T s AorY oAt 37.9 328 13.9 155 = 100.0 6.3 12.1
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2018 Of|=Q1 AE{RA} -

14. X|h 1H47F 22t 3

] A -

THel: %, 3))
T = o3 153 6102 | 113 ofy 2% Ry HHAL
A A 66.7 27.3 34 26 1000 15 47
28t 73.1 233 2.8 08 1000 0.9 2.2
& 734 239 15 12 1000 0.8 23
=0 69.0 28.2 23 04 1000 0.9 2.2
N 70.6 27.3 15 06 1000 0.9 31
Fe= 57.4 37.2 36 18 1000 14 31
Sot 12.1 36.3 263 253 | 100.0 9.8 11.2
QE =o} 64.6 30.8 4.4 02 | 1000 11 2.6
5ot Es 718 26.0 13 10 | 100.0 0.9 2.8
HE2 ol Of 728 233 35 04 1000 0.8 2.1
28 64.0 334 2.0 06 1000 11 2.7
o= 71.2 27.8 0.6 04 1000 0.8 18
oIS 78.1 215 0.3 01 1000 0.4 11
Ot} 76.2 23.8 0.0 00 1000 0.3 0.8
7| Ef 58.6 35.3 2.7 34 | 1000 23 7.2
N2 61.2 33.5 36 17 1000 15 4.2
OI% /A 7| 723 218 25 34 | 1000 15 5.1
e AAH 66.7 25.6 3.9 37 | 1000 19 6.3
- ZR/58H 63.5 30.6 3.9 2.1 100.0 14 3.5
a=/Mata 79.7 15.5 2.1 27 1000 1.0 3.2
RE/R8H 64.1 25.7 7.8 24 100.0 17 4.2
o Lt X} 70.1 24.4 3.0 26 1000 14 47
c= o Xt 613 320 41 25 1000 17 46
30 O O|&} 67.9 25.8 36 26 1000 16 5.4
- 40 Cf 60.5 33.1 4.1 23 1000 17 46
=< 50 Lf 62.2 319 2.8 32 | 1000 18 5.2
60 M| O|At 73.1 214 32 22 1000 11 3.2
TZ0|8} 80.3 17.1 16 11 1000 0.7 33
. Cf & 67.2 28.1 2.5 22 1000 13 37
T st oAb 55.4 33.8 6.4 44 1000 25 6.6
aset 84.6 14.0 13 00 1000 0.4 13
3M0HY Ojgt 70.4 23.8 4.0 19 1000 13 35
AT 3sdorel o 682 269 33 16 1000 1.2 41
7| sHorg ot 59.4 33.5 26 44 | 1000 2.2 6.4
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15 K=t 1

7 2

= AH3Y XA SAE

— O A~

£Hl: %, 3)
T2 =) 1-53] 6103 | 113 ok | A S HRHEA
A A 66.5 264 41 3.1 100.0 1.6 49
2%t 69.3 27.7 21 0.8 100.0 0.9 2.5
0= 76.6 21.2 2.0 0.2 100.0 0.7 1.6
20 74.1 24.2 1.3 0.4 100.0 0.6 1.9
ALZE 61.7 35.5 1.0 1.7 100.0 1.0 3.1
H= 734 25.8 0.0 0.7 100.0 0.5 1.5
Sot 70.7 253 2.8 1.2 100.0 1.0 2.5
g{g 2ot 10.2 43.8 22.0 240 | 100.0 8.3 9.0
5ot Esot 80.3 17.3 21 04 1000 0.6 2.1
HES O 0] 78.1 20.2 14 0.3 100.0 0.6 2.2
28 56.0 35.2 5.6 33 100.0 22 5.3
<= 55.5 415 2.0 1.0 100.0 1.5 6.7
o=kl 85.3 14.0 0.6 0.1 100.0 0.3 1.0
oh} 94.2 5.8 0.0 0.0 100.0 0.1 0.6
7| Et 34.0 31.2 17.3 17.5 100.0 6.3 9.8
= 61.7 31.2 3.7 34 100.0 1.8 49
ol x/ZA7| 74.4 19.8 3.2 26 100.0 1.2 3.5
=/of HaA 69.7 22.7 45 3.1 100.0 1.8 7.4
- ZR/58H 58.4 34.0 41 3.5 100.0 2.0 49
23/™erd 66.5 24.6 6.1 2.7 100.0 1.5 3.8
RE/RSH 72.3 19.9 6.2 1.5 100.0 1.2 2.8
e L Xt 66.9 26.9 41 2.1 100.0 1.5 49
°= of Xt 65.9 25.5 41 45 100.0 1.9 49
30 O} o3} 76.8 18.1 2.8 2.3 100.0 1.3 5.3
o o 40 Cf 66.9 27.0 3.8 2.2 100.0 1.3 34
=< 50 LCH 62.4 28.0 2.5 7.2 100.0 24 6.8
60 N| O] At 57.8 339 6.9 14 100.0 1.6 34
TZ=0|8} 69.2 24.2 5.1 1.6 100.0 14 3.6
Spm o = 67.7 26.9 3.0 2.5 100.0 1.3 3.6
o CH&HS Of A 63.3 274 41 5.2 100.0 23 7.2
2SH 54.8 20.0 24.5 0.8 100.0 22 3.2
3 M3t O3t 66.5 27.5 4.2 1.8 100.0 14 45
i@ 3-5 M0Hel O|ot 64.3 26.1 41 5.6 100.0 21 5.0
7 s HOre o)At 68.1 24.8 3.9 3.2 100.0 1.7 5.5
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16. X[ 1EH27F 2HEF SI[AH =]
THel: %, 3))

T = o3 153 6102 | 113| OfY 2% Ry HHAL
A A 58.6 315 5.2 438 100.0 23 6.2
28t 62.8 318 29 24 100.0 15 46
& 76.9 227 0.2 0.2 100.0 0.5 12
=0 65.4 29.8 48 0.0 100.0 0.9 17
N 67.2 314 12 0.1 100.0 0.7 15
Fe= 61.2 388 0.0 0.0 100.0 0.7 11
Sot 65.3 329 16 0.2 100.0 0.9 17
QE =o} 62.4 35.3 14 0.8 100.0 13 3.8
5ot Es 654 | 332 14 0.0 1000 0.7 14
HE2 ol Of 322 52.2 9.1 6.5 100.0 49 12.5
og 47.2 444 5.8 2.7 100.0 2.0 37
o= 9.2 316 239 354 100.0 114 10.7
oS} 414 46.8 7.9 3.8 100.0 31 7.6
Ot} 76.6 17.0 6.0 0.4 100.0 0.9 2.5
7| Ef 60.0 26.1 115 2.5 100.0 2.1 46
N2 52.6 339 7.1 6.5 100.0 31 7.8
OIM/A7| 59.4 30.2 5.7 47 100.0 23 5.5
e AMH 61.7 322 36 2.5 100.0 16 42
- ZR/58H 70.3 247 2.6 23 100.0 1.2 33
a=/Mata 65.5 306 13 2.6 100.0 1.0 3.2
SE/2 8t 61.8 276 38 6.8 100.0 2.8 7.6
o Lt X} 61.1 29.2 4.4 5.3 100.0 23 6.0
c= o Xt 54.5 35.1 6.5 40 100.0 24 6.6
30 O O|&} 47.1 37.8 7.7 74 100.0 33 7.5
- 40 Cf 52.6 347 8.2 45 100.0 2.8 7.5
=< 50 Lf 61.9 284 3.0 6.7 100.0 2.5 6.3
60 N O|At 73.0 246 1.9 0.6 100.0 0.8 2.1
TZ0|8} 66.3 25.9 47 3.2 100.0 17 46
. Cf & 53.6 33.5 6.5 6.4 100.0 2.8 6.7
T st oAb 62.3 310 35 3.2 100.0 19 6.5
aset 57.2 40.6 14 0.8 100.0 1.2 24
3M0HY Ojgt 56.9 30.8 6.1 6.2 100.0 2.8 7.2
i@ 3-5 XM0rel ojgt 62.8 29.9 3.2 41 100.0 1.9 5.3
T s Hore o)A 58.2 338 5.2 2.9 100.0 19 5.0
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17. X[k 1320 2 sla~[F X 2]
THel: %, 3))

T = o3 153 6102 | 113 ofy 2% Ry HHAL
A A 66.8 30.1 22 08 1000 1.0 43
28t 77.1 218 0.7 05 1000 0.5 15
& 80.9 18.8 0.2 01 1000 0.4 1.0
=0 69.3 29.9 0.8 00 1000 0.5 1.0
N 76.9 226 0.5 01 1000 0.4 1.0
Fe= 62.1 37.5 0.4 00 1000 0.6 11
Sot 58.3 39.0 2.0 07 1000 11 2.2
QE =o} 733 25.9 0.5 03 | 1000 0.6 16
5ot Es 65.1 33.0 1.2 0.7 = 1000 0.8 2.1
HE2 ol Of 452 473 53 22 1000 3.0 13.9
28 59.0 36.2 45 03 1000 1.2 2.7
o= 413 448 10.2 36 | 1000 29 53
oIS 60.4 374 13 1.0 1000 13 5.1
Ot} 783 13.6 8.0 01 1000 1.0 2.8
7| Ef 64.1 33.5 14 09 1000 1.0 33
N2 62.6 34.4 2.0 10 1000 12 5.9
OI% /A 7| 64.8 30.1 4.0 11 1000 1.2 3.0
e AMH 67.1 309 16 04 1000 0.9 2.6
- ZR/58H 77.8 21.6 0.6 0.0 100.0 0.4 1.2
a=/Mata 79.6 20.0 0.4 00 1000 0.3 1.0
SE/2 8t 67.5 25.5 47 23 1000 17 4.9
o Lt X} 70.4 26.9 2.1 06 1000 0.8 24
c= o Xt 61.1 35.3 25 12 1000 14 6.2
30 Cf O|&t 56.7 38.5 33 15  100.0 16 6.7
- 40 Cf 62.5 33.2 3.1 13 1000 12 35
=< 50 Lf 67.5 29.9 2.0 05 1000 0.9 2.5
60 N O|At 80.6 18.7 0.6 00 1000 0.4 11
T=o0|3} 75.5 222 14 10 1000 0.8 2.5
. Cf & 64.8 318 2.7 07 1000 12 53
T st oAb 64.6 32.3 22 09 1000 1.0 3.2
2ee 65.7 30.3 0.9 31 1000 0.9 2.7
3M0HY Ojgt 67.3 30.3 1.4 09 1000 0.9 32
i@ 3-5 XM0rel ojgt 70.6 26.5 2.2 07 1000 0.9 2.8
T s Hore o)A 63.1 32.5 36 0.8 | 1000 13 6.3
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18. X[ 1H7F #Eh SI[FE]
THel: %, 3))

T = ol 3 153 6102 | 112 O A i HEHAL
A A 79.9 15.7 33 11 100.0 0.9 2.8
28t 847 14.6 0.4 0.4 100.0 0.4 18
& 935 6.5 0.0 0.0 100.0 0.2 0.9
=0 89.4 10.6 0.0 0.0 100.0 0.2 0.6
N 84.5 14.6 0.3 0.5 100.0 0.4 1.9
Fe= 90.9 8.4 0.7 0.0 100.0 0.3 12
Sot 77.8 21.0 12 0.0 100.0 0.5 13
QE =o} 613 35.2 24 11 100.0 13 24
5ot Es 90.5 8.4 0.4 0.8  100.0 0.3 15
HE2 ol Of 822 15.2 22 0.5 100.0 0.5 18
28 8.5 383 323 20.9 100.0 8.5 8.0
o= 70.7 273 19 0.1 100.0 0.8 18
oIS 89.7 9.6 0.2 0.6 100.0 0.3 16
ot} 97.0 24 0.7 0.0 100.0 0.1 0.8
7| Ef 53.5 281 18.2 0.2 100.0 24 38
N2 747 19.3 48 11 100.0 11 3.0
OIM/A7| 83.2 134 2.1 1.2 100.0 0.8 2.8
e AMH 79.3 16.3 31 13 100.0 0.9 33
- ZR/58H 85.5 12.5 1.2 0.8 100.0 0.5 1.9
a=/Mata 915 6.4 13 0.8 100.0 0.4 1.9
SE/2 8t 763 19.7 37 0.3 100.0 0.9 33
. Lt X} 83.2 14.6 17 0.5 100.0 0.6 23
c= o Xt 747 17.6 5.7 2.0 100.0 13 36
30 CH O[3t 7838 15.5 3.9 1.9 100.0 11 34
- 40 Cf 77.2 19.7 19 11 100.0 0.8 26
=< 50 Lf 76.4 16.8 6.1 0.6 100.0 11 3.1
60 N O|At 85.7 124 14 0.5 100.0 0.5 2.1
TZ0|8} 88.4 10.1 0.5 1.0 100.0 0.5 2.2
. Cf & 815 15.3 24 0.8 100.0 0.7 25
T st oAb 726 19.1 6.6 17 100.0 14 37
2ee 63.8 34.0 2.1 0.0 100.0 0.8 16
3M0HY Ojgt 816 15.8 16 1.0 100.0 0.7 24
i@ 3-5 XM0rel ojgt 77.8 15.8 5.5 0.9 100.0 1.0 3.2
T s Hore o)A 788 15.6 43 13 100.0 11 33
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19. X[ 1H2F 2Eh 21[D3)
THel: %, 3))

T = o= 153 6102 | 112 O A i HEHAL
A A 220 40.0 20.8 17.2 100.0 8.0 13.3
28t 216 415 20.9 16.0 100.0 7.7 13.3
& 264 48.1 15.2 10.3 100.0 5.8 10.7
Zo 247 37.3 228 15.2 100.0 8.7 15.3
N 248 456 15.5 14.1 100.0 5.8 9.1
Fe= 20.8 421 266 10.5 100.0 6.4 8.8
Sot 2338 42.8 20.2 13.1 100.0 6.2 9.1
gE =o} 389 346 209 5.6 100.0 4.4 6.9
5ot Es 20.2 314 27.8 205 100.0 96 | 154
HE2 ol Of 13.8 394 220 249 100.0 9.9 13.8
g 16.1 36.7 281 19.0 100.0 8.2 8.7
o= 8.4 39.9 225 29.2 100.0 10.9 14.2
oIS 37 15.0 25.1 56.2 100.0 238 26.3
Ot} 184 25.4 20.0 36.2 100.0 15.2 242
7| Ef 32.8 37.9 214 7.9 100.0 5.5 8.8
N2 204 380 218 19.8 100.0 8.9 14.4
OlF /A 7| 241 312 22.0 227 100.0 9.7 15.2
e AAd 243 433 17.4 14.9 100.0 6.7 10.7
- ZR/58H 264 432 18.9 114 100.0 6.5 10.8
a=/Mata 19.2 56.9 20.7 3.2 100.0 39 49
SE/2 8t 14.1 53.3 220 10.6 100.0 6.5 12.9
o Lt X} 241 394 19.7 16.8 100.0 7.9 13.8
c= o Xt 18.7 409 227 17.8 100.0 8.2 12.3
30 O O|&} 13.8 27.6 30.1 285 100.0 11.5 15.2
- 40 Cf 13.1 453 246 17.0 100.0 9.1 14.9
=< 50 Lf 210 458 18.6 14.6 100.0 6.8 10.7
60 N O|At 38.2 455 9.5 6.7 100.0 43 10.0
T=o0|3} 337 346 16.1 15.6 100.0 7.1 14.1
. Cf & 17.8 414 22.0 18.8 100.0 8.4 13.3
T st oAb 215 404 220 16.1 100.0 8.1 12.8
aset 241 495 19.9 6.6 100.0 4.5 6.8
3M0HY Ojgt 244 389 19.3 17.4 100.0 7.9 13.2
i@ 3-5 X0t ojot 20.8 431 222 13.9 100.0 6.8 9.9
T s Hore o)A 19.0 394 223 19.3 100.0 9.1 15.3
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20. X'k 1137 2 SAR[CHF S, Aol
chel: %, 2l)

T = S 1-53] 6102 | 112 oY A B HEHA}
M| 75.5 19.2 2.9 24 100.0 1.6 6.1
St 80.7 15.6 2.0 1.7 100.0 1.1 48
Ol= 85.0 12.0 1.5 15 100.0 1.0 5.5
S0 84.7 8.7 1.8 48 100.0 3.2 12.8
NEN 81.1 17.2 0.6 1.1 100.0 0.7 33
H= 73.5 26.5 0.0 0.0 100.0 0.6 1.3
sot 76.2 18.5 3.5 1.9 100.0 14 5.2
U= =9 80.8 14.8 3.0 15  100.0 1.2 5.5
56t &S &< 438 37.6 10.2 84 | 1000 4.7 9.9
HE 2 01 0f 73.6 227 1.9 1.9 100.0 14 5.7
== 86.0 12.2 0.5 1.2 100.0 0.8 5.0
A= 78.8 19.4 0.5 1.2 100.0 0.9 33
A3} 82.7 15.6 1.3 0.4 100.0 0.6 21
ot} 90.0 94 0.3 0.3 100.0 0.4 34
7| E} 75.1 19.8 3.6 1.6 100.0 1.3 46
N e 72.8 220 2.4 2.8 100.0 1.8 71
olx /A7 82.0 14.2 2.6 1.3 100.0 0.8 3.2
e 4438 713 204 45 3.7 100.0 23 7.6
- Z/EEA 77.4 17.6 3.5 1.5 100.0 1.1 3.7
2=/ 77.2 19.6 2.2 1.1 100.0 0.9 32
RE/RSE 72.5 17.0 4.8 5.7 100.0 3.1 9.2
. o X} 74.9 19.0 34 2.7 100.0 1.6 5.8
c= of Xt 76.4 194 21 21 100.0 1.5 6.5
30 Cff o3} 70.1 219 45 3.5 100.0 2.0 6.1
of 24 40 cf 74.7 209 1.9 2.5 100.0 1.8 7.7
=< 50 CH 76.3 20.1 2.0 1.6 100.0 1.2 41
60 A| O| A 81.4 14.1 2.5 1.9 100.0 1.3 5.9
=08} 75.5 184 3.1 3.0 100.0 1.7 6.1
st o o = 72.3 22.3 3.2 2.3 100.0 1.6 5.8
o CHSHRl O] Af 80.8 14.6 2.3 24 100.0 14 6.5
23 82.8 11.6 3.7 1.9 100.0 1.1 43
30t ojat 76.5 184 2.7 2.3 100.0 1.5 5.9
i@ 3-5 MOt O|ot 75.6 19.7 3.2 1.5 100.0 1.2 42
7| sHoOig o) 73.6 20.0 3.0 34 100.0 2.0 74
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21 SHAF 71 HE|
(2 %)
3= o3| Ao BISER oo mum | omas |
(&) (X% o)

= A 223 274 18 0.1 15 470 | 1000
ke 16.1 25.0 5.9 0.1 35 494 | 1000
o= 12.9 310 1.5 0.0 0.3 542 | 100.0
Zof 214 284 13 0.0 184 305 1000
AFZI 24.5 18.5 6.6 0.0 11 493 | 1000
= 83.0 6.3 0.6 0.0 24 7.7 | 1000
Sof 296 29.1 4.4 0.5 5.4 310 1000
QE =of 21.8 234 1.9 0.0 13 516 | 100.0
56t &S 20.2 254 0.0 0.3 04 537 | 1000
Hf 2 Of Of 19.0 42.2 0.6 0.0 0.9 373 | 1000
og 221 243 13 0.0 43 480 | 100.0
<= 24.1 29.7 0.2 0.0 1.1 448 | 1000
o3} 22.8 28.1 0.0 0.0 0.6 485 | 100.0
ot} 47 299 0.1 0.0 0.0 653 = 100.0
7| E} 41.9 211 12 0.0 0.0 357 = 1000
N 2 274 22.7 15 0.1 2.0 463 | 100.0
Ol% /27| 10.8 450 0.3 0.1 0.3 436 | 1000
e ZAAd 22.8 19.4 37 0.0 0.9 531 | 100.0
- B/EHA 239 210 37 0.0 24 490 | 1000
ESETE 19.7 24.0 2.0 0.1 1.5 528 | 100.0
RE/EZE 40.1 21.1 2.8 0.0 41 319 1000
o Lt X} 234 26.5 24 0.1 1.5 462 | 1000
c= o X} 20.5 287 1.0 0.0 1.5 482 | 1000
30 CH o|3t 21.0 26.8 0.4 0.0 0.3 515 | 100.0
of 24 40 Y 323 32.8 1.0 0.1 14 323 | 1000
=< 50 Cf 323 40.8 2.5 0.0 2.2 222 | 1000
60 M| O|At 9.0 14.0 35 0.2 2.3 710 | 1000
ek 10.2 23.1 13 0.2 0.0 651 | 100.0
o o = 24.1 27.8 1.1 0.1 0.7 462 | 1000
o CHSHS O] Ak 27.8 30.3 33 0.0 39 346 | 1000
f238H 10.2 14.4 5.8 0.0 0.0 69.6 100.0
3 Mot oot 16.6 25.2 1.1 0.1 0.6 564 | 100.0
i@ 3-5 XM0rel Ojgt 28.6 26.6 2.7 0.0 0.9 411 | 1000
7| s Horg oAt 27.0 316 24 0.0 33 357 | 100.0
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T O =
A A 23.1 17.6 = 435 7.6 1.1 0.7 6.5 | 100.0
gt 20.5 25.1 40.0 6.1 22 0.7 54 | 100.0
0= 13.3 24.8 52.0 5.1 1.6 0.8 23 | 100.0
S0l 39.8 15.5 38.0 5.4 0.0 0.0 1.3 | 100.0
ALZI 32.2 21.1 39.1 2.9 0.1 1.0 3.7 | 100.0
H= 87.3 11 11.6 0.0 0.0 0.0 0.0 | 100.0
2ot 35.7 14.7 316 7.4 0.9 1.1 85 | 100.0
d= =9t 246 212 376 102 22 00 42 | 1000
56 [j=sot 21.0 14.6 396 10.0 0.9 0.9 13.1 | 100.0
HE2 010 19.5 74 56.1 7.6 0.6 2.2 6.6 | 100.0
== 25.8 12.3 35.1 12.8 1.6 0.0 124 | 100.0
A= 18.5 114 = 436 13.8 0.6 0.1 11.8 | 100.0
A3} 20.4 158 | 449 10.6 0.8 0.0 7.5 | 100.0
ot} 41 13.3 59.1 15.9 0.1 14 6.0 | 100.0
7| E} 35.5 13.2 434 43 0.0 0.0 3.6 | 100.0
M2 25.5 14.1 415 5.7 1.3 1.3 10.6 | 100.0
oI1X /A7 13.5 226 = 495 13.4 0.0 0.2 0.7 | 100.0
e AMH 244 19.5 38.0 8.1 26 0.4 6.9 | 100.0
- ZR/58H 29.2 23.6 37.5 3.8 0.3 0.2 53 | 100.0
Zz=/FMet 22.7 16.1 54.2 47 0.7 0.1 1.6 | 100.0
RE/RSH 40.1 6.2 36.1 41 1.2 0.3 12.1 | 100.0
. o X} 24.7 12.5 49.6 46 1.3 0.9 64 | 100.0
°= of A 20.5 25.6 33.8 12.4 0.6 0.4 6.7 | 100.0
30C§ o|st 19.8 17.8 34.2 12.5 0.5 0.5 14.7 | 100.0
o o 40 Cf 29.2 10.1 47.0 8.8 0.7 0.0 41 | 100.0
=< 50 CH 34.2 14.3 441 3.6 1.7 0.5 14 | 100.0
60 A O| At 14.0 25.1 50.8 42 1.5 1.5 3.0 | 100.0
DZE0|3} 11.6 236 = 446 7.0 29 14 9.0 | 100.0
1oy o & 23.2 154 | 457 8.4 0.6 0.2 64 | 100.0
o CHSHS oA 30.9 17.2 39.2 6.3 0.5 1.0 48 | 100.0
28k 183 20.4 376 10.0 14 2.0 10.3 | 100.0
3oty ojat 14.2 17.1 47.0 7.5 21 11 11.0 | 100.0
i@ 3-5 0K Ojgt | 281 18.1 439 5.8 0.1 0.5 3.5 | 100.0
7 5HOorg oAt 34.0 18.0 374 9.1 0.1 0.2 1.3 | 100.0
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23. LHHES 7HY HEY

(Bt %)

=010| 7t¢

T & AT 7+ (Ba7|Y 7hUSHR| R4S A
A=)

LS| 23.7 3.3 73.0 100.0
23t 21.0 33 75.7 100.0
0= 13.9 14 84.7 100.0
S0 34.6 24 63.0 100.0
ALZE 30.7 2.0 67.3 100.0
H= 77.0 5.8 17.2 100.0
=< 35.9 1.8 62.2 100.0
de 3o 226 12 762 100.0
56 =g ot 19.8 33 76.9 100.0
ChoRalll 21.2 6.4 724 100.0
= =3 26.6 41 69.4 100.0
A= 18.4 8.8 72.9 100.0
A3} 24.1 1.8 74.0 100.0
o3} 41 1.5 94.4 100.0
7| E} 454 2.8 51.8 100.0
M E 28.6 54 66.0 100.0
QIH /A7 11.0 1.5 87.5 100.0
2o Edd 234 16 75.0 100.0
S /sEEA 294 11 69.5 100.0
Zx/Hetd 22.5 1.0 76.5 100.0
RE/RSH 425 74 50.1 100.0
b o X} 254 3.8 70.8 100.0
°= of Xt 20.9 24 76.6 100.0
30 O} o3} 21.8 25 75.6 100.0
o o4 40 Cf 32.0 40 64.1 100.0
=< 50 CH 324 40 63.6 100.0
60 M| O| At 13.3 3.0 83.7 100.0
DZ0|38} 11.8 2.2 86.0 100.0
o o = 22.8 3.8 73.5 100.0
TN s ol 327 31 64.2 100.0
FSE 33.2 2.7 64.1 100.0
3M0okel Ojat 17.0 36 79.4 100.0
i@ 3-5 M0tel O|ot 28.5 2.2 69.3 100.0
R 31.2 34 65.3 100.0
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2018 O|=Q ME{ZAL =
24, 183 719! HE|
(THl: %)

T & 7t s 7HUSHR| b= A
S| 24.1 75.9 100.0
23t 22.5 77.5 100.0
0= 10.1 89.9 100.0
20 28.6 714 100.0
AHZ 30.1 69.9 100.0
1= 64.3 35.7 100.0
=< 39.5 60.5 100.0
U= EE 204 79.6 100.0
S0} ] 25.0 75.0 100.0
HFS A O 19.2 80.8 100.0
£8 248 75.2 100.0
A= 30.1 69.9 100.0
A%t 231 76.9 100.0
ok} 48 95.2 100.0
7| E} 424 57.6 100.0
M 2 28.6 714 100.0
QIM/AT| 17.1 82.9 100.0
. ddH 222 77.8 100.0
T U/ENA 269 73.1 100.0
HF /et 20.7 79.3 100.0
RE/RSH 304 69.6 100.0
o o A 2438 75.2 100.0
°= of A} 231 76.9 100.0
30 Cf o|s} 234 76.6 100.0
o o4 40 Cf 35.8 64.2 100.0
=< 50 CH 31.8 68.2 100.0
60 M| O] At 10.8 89.2 100.0
DE0|3} 114 88.6 100.0
- o 233 76.7 100.0
ST e ol 34.7 65.3 100.0
£33 14.0 86.0 100.0
3HeHY O)gt 15.8 84.2 100.0
AL [3-5#ore ojgt 30.9 69.1 100.0
| s Hokg ofA 328 672 100.0
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25 7| x93 2
(RH65K| O|4=855, T+2| %)
T = sf & e Sls A
S| 14.8 85.2 100.0
T 11.3 88. 100.0
Ol= 16.9 83.1 100.0
S0 0.0 100 100.0
ALE 11.1 88.9 100.0
H= 13.6 86.4 100.0
=% 16.7 83.3 100.0
] 29 9.0 91.0 100.0
50} osset 6.9 93.1 100.0
S A0 16.8 83.2 100.0
78 11.3 88.7 100.0
A= 8.9 91.1 100.0
&3t 53.1 469 100.0
Ot} 23.0 77.0 100.0
7| Ef 25.9 741 100.0
M2 204 79.6 100.0
IH/E7| 11.9 88.1 100.0
04 d4H 247 753 100.0
dH/BEH 10.0 90.0 100.0
gz /™etd 1.1 98.9 100.0
RE/RSE 0.0 100 100.0
My d A 183 817 100.0
of Xt 5.5 94.5 100.0
oz 65 A Of & 14.8 85.2 100.0
=08} 22.3 77.7 100.0
. o = 9.3 90.7 100.0
R N =T P 116 88.4 100.0
f38E 12.7 87.3 100.0
3 Mok ojgt 20.6 794 100.0
AL | 3sHere o 35 %5 1000
) 5HTtR o4 12.0 88.0 100.0

115



(2H65M| 0] &f=855, THe| %)

T & of o e ela SHA
S| 379 62.1 100.0
e 36.1 63.9 100.0
0= 41.0 59.0 100.0
S0 27.7 723 100.0
ALZ 28.7 713 100.0
1= 323 67.7 100.0
=< 23.5 76.5 100.0
i 2o 34.3 65.7 100.0
S0t SS9 61.0 39.0 100.0
CheRalyl 46.1 53.9 100.0
£8 16.5 83.5 100.0
A= 43 95.7 100.0
A3} 50.4 49.6 100.0
ok} 100 0.0 100.0
7| E} 427 57.3 100.0
M2 336 66.4 100.0
O1E/H 7| 422 57.8 100.0
2o 443 35.0 65.0 100.0
. BA/EHA 44.4 55.6 100.0
2F/HetH 41.6 58.4 100.0
RE/RSH 8.4 91.6 100.0
= 40.5 59.5 100.0
M4
o Xt 30.7 69.3 100.0
o 65 A| O|At 37.9 62.1 100.0
=08} 46.3 53.7 100.0
o & 40.0 60.0 100.0
ShE]
CHSHSl O] At 216 784 100.0
£33 39.0 61.0 100.0
3MEHR Ojgt 52.0 48.0 100.0
AT | 3sdpre o 181 81.9 100.0
R 226 77.4 100.0
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27. 4889 3 4
(2 %)

T2 AS o= A
A A 2.5 97.5 100.0
23} 1.8 98.2 100.0
o= 0.6 99.4 100.0
20 0.2 99.8 100.0
AZI 1.9 98.1 100.0
HE 0.1 99.9 100.0
got 0.7 99.3 100.0
Az = 33 96.7 100.0
56 [l=S o 2.8 97.2 100.0
Hf 2= of Of 5.3 94.7 100.0
1= 1.2 98.8 100.0
= 3.5 96.5 100.0
3} 6.1 93.9 100.0
oh} 0.6 99.4 100.0
7|E} 7.6 924 100.0
= 3.8 96.2 100.0
1M/ 7| 14 98.6 100.0

o/ d o2 . . .
2/t 14 98.6 100.0
2E/FEH 6.5 93.5 100.0
A = At 2.1 97.9 100.0
c= o A 33 96.7 100.0
30 CH o|st 33 96.7 100.0
o1 24 40 f 5.5 94.5 100.0
=< 50 CH 1.1 98.9 100.0
60 N| O] At 0.6 99.4 100.0
=08t 2.2 97.8 100.0
o o = 3.0 97.0 100.0
o CH&HS O|A 1.6 98.4 100.0
FSE 5.2 94.8 100.0
5 MOFY O|Ab 1.6 98.4 100.0
AT | 3sdpra o 22 97.8 100.0
| 3wor ojgt 33 96.7 100.0
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2018 OflZQ! HEj=AL =
28. dga0 3 ==
(M0 48xt=126, TH: %, 3)
T & 13| 279 379 4% 520/ | R | ETEA
A A 52.6 10.1 17.6 6.6 13.1 | 100.0 23 1.6
a3t 25.8 7.6 32.0 9.9 248 | 100.0 3.2 1.8
Ol& 25.9 12.7 0.0 0.0 614  100.0 4.2 23
20| 66.9 0.0 33.1 0.0 0.0  100.0 1.7 1.1
ALZI 427 0.0 276 0.0 29.7 | 100.0 3.0 21
A= 100 0.0 0.0 0.0 0.0  100.0 1.0 0.0
sot 5.1 0.0 89.8 5.1 0.0  100.0 29 0.5
QE ot 426 = 383 16.3 0.0 2.8 | 1000 1.9 1.0
56} 0539 61.0 1.2 2.8 26.0 9.0 = 100.0 23 1.7
BS A0 32,5 38.7 0.2 6.3 223 | 100.0 25 1.6
[=§=3 53.7 0.0 46.3 0.0 0.0 = 100.0 1.9 1.0
o= 32.7 7.0 438 0.0 16.5 = 100.0 26 14
A3t 61.4 10.0 15.8 12.7 0.0  100.0 1.8 1.1
obS} 40.5 0.0 59.5 0.0 0.0 | 100.0 2.2 1.0
7| E} 87.2 0.0 12.8 0.0 0.0 = 100.0 1.3 0.7
M 2 58.5 11.9 17.2 3.0 95 | 100.0 2.0 14
oI1X /A7 41.0 3.2 16.5 223 17.1 | 100.0 29 1.8
e 448 383 1.5 249 4.0 313 | 100.0 3.2 21
- ZR/EEA 36.9 6.9 243 174 144 | 100.0 2.8 1.7
2z /M2 216 = 415 10.9 16.6 93 | 100.0 26 1.5
RE/RSH 64.0 0.0 17.9 0.0 18.1 = 100.0 23 1.9
. o X} 34.9 8.9 23.7 9.2 233 | 100.0 29 1.8
°= o X} 70.2 114 11.6 40 2.8 | 100.0 1.6 1.1
30 C§ o|s} 473 9.4 24.2 13.8 53 | 100.0 23 14
of 24 40 Cj 58.7 13.3 12.5 1.0 145 = 100.0 2.0 1.5
=< 50 CH 54.6 54 0.0 1.0 389 | 100.0 3.0 24
60 A| O| A 40.6 0.0 36.1 7.8 15.5 | 100.0 2.7 1.7
DZ0|8} 473 12.8 234 0.0 16.6 = 100.0 23 1.6
o o] = 55.2 8.7 12.2 10.2 13.7 | 100.0 23 1.7
S oiEre oAt 594 | 147 12.9 21 108  100.0 20 16
28 0.0 0.0 100 0.0 0.0 = 100.0 3.0 0.0
340t ojat 50.3 7.8 221 41 15.8 = 100.0 24 1.7
i@ 3-5MTHY Ot | 65.2 14.9 10.3 6.2 3.3 | 100.0 1.7 1.2
7| sHorg ofAt 47.1 13.3 10.1 15.7 13.9 = 100.0 24 1.6
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= AH3Y XA SAE

29. 2850 7o =Y
(HYTO! £8IRt=126, EH9I: %, 2

7 EE VWM wwme @ omr | mp | =R
H | 6.6 40.1 53.3 1000 = 934 100 | 380
23 15.2 12.7 722 | 1000 1020 = 1200 | 463
el 0.0 2.0 980 | 1000 1196 1200 169
30 0.0 0.0 1000 1000 1134 1200 | 108
ARZ 0.0 36.5 635 1000 1030 = 1200 | 399
A= 0.0 0.0 100.0 | 1000 1500 = 150.0 0.0
g% 0.0 46.6 534 | 1000 = 989 100 | 218
A= =g 16.0 53.9 301 1000 820 750 | 294
5ot ES 22.1 43.8 340 | 1000 753 @ 500 | 436
425 Gl of 0.0 33.9 661 1000 1073 = 1200 | 2938
L 153 231 616 1000 1109 = 1200 | 443
o= 7.0 36.9 56.1 1000 @ 105.6 100 | 320
A3} 0.0 221 779 | 1000 | 1143 100 | 280
o3} 0.0 59.5 405 1000 @ 905 500 | 515
7| Et 0.0 63.0 370 | 1000 = 745 500 | 312
N e 103 487 410 1000 860 800 = 408
oIH/E7 0.0 5.2 948 1000 1204 1200 @ 173
o A 15 55.8 427 1000 819 700 | 340
- dE/58H 73 36.9 557 1 1000 = 990 @ 1200 38.8
2z/Met 0.0 701 299 1000 896 750 @ 352
BE/R8HE 0.0 104 89.6 | 1000 1096 = 1200 | 151
e o Xt 4.1 37.0 58.9 1000 @ 103.2 100 | 354
c= of Xt 9.1 432 476 1000 837 = 800 379
30 0§ o|s} 15.7 233 611 1000 = 969 100 | 400
o 40 0.0 58.7 413 1000 870 800 | 356
=< 50 Cf 0.0 28.1 719 | 1000 @ 1041 100 | 310
60 M| O] A 43 36.9 589 1000 1000 @ 1200 @ 417
eI 6.7 34.1 591 1000 1022 @ 1200 | 416
. o = 7.5 42.0 50.6 1000 @ 89.7 100 | 388
T Oty oy 5.1 28.0 66.9 1000 1004 = 1200 | 312
28 0.0 94.4 56 1000 8L8 950 | 241
3Mote ojg 7.9 439 482 1000 = 893 = 950 = 388
AL | 3sHpre oo 7.2 45.0 477 | 1000 934 800 | 352
U sHEDY ol 15 22.0 765 | 1000 | 1075 = 1200 | 342
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(Bt %)

T &2 = o9 = 2

LS| 6.2 93.8 100.0

= 1.3 98.7 100.0

0= 5.7 94.3 100.0

S0 7.6 92.4 100.0

AL 1.0 99.0 100.0

e 0.4 99.6 100.0

= 42 95.8 100.0

%E o} 3.9 96.1 100.0
S0t ChE22t 34 96.6 100.0
25 1 0] 9.8 90.2 100.0

28 25.1 74.9 100.0

A= 12.4 87.6 100.0

A3t 6.7 93.3 100.0

ot} 11.7 88.3 100.0

7| Ef 48 95.2 100.0

N 8.1 91.9 100.0

M/ ZE7] 5.5 94.5 100.0

e 443 5.0 95.0 100.0
T Ze/sHEA 23 97.7 100.0
a/™erd 2.5 97.5 100.0
RE/RSH 11.5 88.5 100.0

e = At 5.2 94.8 100.0
o Xt 7.6 92.4 100.0

30y o|s} 8.0 92.0 100.0

o o 40 tf 8.2 91.8 100.0
=< 50 CH 6.5 93.5 100.0
60 A| O| A 24 97.6 100.0

1ZE0[5} 6.1 93.9 100.0

st o o = 5.9 94.1 100.0
ST sk ol 6.7 93.3 100.0
£33 4.0 96.0 100.0

HMeota ojgt 7.7 923 100.0

i@ 3-5 M Ojg 53 94.7 100.0
RN 4.2 95.8 100.0
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31

Ab ALY

= AH3Y XA SAE

&3l mBHAF=308, THel: %)

e nfcE=s
T = 740! HIg2= HHoS Hif 7|t A
2y (Abr X2)

S| 5.3 7.5 20 100.0
e 0.0 0.0 0.0 100.0
0= 8.1 0.0 0.0 100.0
S0 0.0 0.0 0.0 100.0
ALZI 0.0 17.9 20.3 100.0
U= 0.0 0.0 0.0 100.0
=< 3.6 6.7 0.0 100.0
g 29 0.0 7.0 00 100.0
56} e 48 0.0 0.0 100.0
HES A0 0.0 30.5 2.2 100.0
F& 1.5 8.5 2.2 100.0
A= 12.5 3.9 5.9 100.0
o3} 0.0 233 0.0 100.0
Ot} 0.0 0.0 0.0 100.0
7|E} 0.0 17.0 0.0 100.0
M 2 46 9.7 34 100.0
QIH/E7 11.0 9.3 0.0 100.0
e 88d 2.5 2.2 0.0 100.0
T Ze/syA 3.0 5.7 0.0 100.0
a/™erd 0.0 0.0 5.1 100.0
RE/RSH 2.8 0.0 0.0 100.0
o = At 40 10.6 3.0 100.0
o At 6.8 40 0.9 100.0
30y o|s} 6.1 12.7 44 100.0
o o 40 Cf 6.4 7.0 0.0 100.0
=< 50 CH 5.3 0.0 0.9 100.0
60 M| O] At 0.0 43 0.0 100.0
Z0|8} 8.0 8.6 0.0 100.0
- o 6.2 9.3 4.0 100.0
TN OiEe ol 25 35 0.0 100.0
f£8H 0.0 16.7 0.0 100.0
3 ®MOHH O]t 2.8 5.9 29 100.0
i@ 3-5 Met@ oja 238 9.0 0.0 100.0
| sHor oA 153 108 10 100.0
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= o=\ L2 oo
(Bt %)

T & o= = A
A 239 76.1 100.0
e 21.1 789 100.0
0= 20.3 79.7 100.0
S0 11.7 88.3 100.0
ALE 10.1 89.9 100.0
el 6.7 933 100.0
=21 239 76.1 100.0
%E = ok 14.1 85.9 100.0
S0t E=nal 30.1 69.9 100.0
A= 39.5 60.5 100.0
£& 21.2 78.8 100.0
A= 36.7 63.3 100.0
A} 43.0 57.0 100.0
Ot} 483 51.7 100.0
7| E} 11.6 88.4 100.0
M 2 30.8 69.2 100.0
H/E7| 223 77.7 100.0
e 88d 196 80.4 100.0
T U/EHA 16.0 84.0 100.0
aF/™erd 7.2 92.8 100.0
RE/RSH 36.2 63.8 100.0
o = 229 77.1 100.0
of At 25.6 744 100.0
30 Cff o3} 29.7 70.3 100.0
o o4 40 Cf 34.7 65.3 100.0
=° 50 CH 22.5 77.5 100.0
60 M| O|At 10.9 89.1 100.0
=08} 24.0 76.0 100.0
- o = 239 76.1 100.0
T sk o4t 23.8 76.2 100.0
£ 25.8 74.2 100.0
3HTHY O)Tt 29.8 70.2 100.0
7T 3.5 #orel ojor 193 80.7 100.0
T sHDIY oA 177 823 100.0
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= AH3Y XA SAE

33. Ol 48 tE sl
Ol=Z3 o ZER=1196, T %, 3)

T & 13] 279 379 4% |52/ 0pt | o B i—iﬁ%
A A 429 19.1 15.5 43 18.2 = 100.0 3.0 34
St 31.9 22.2 13.0 1.0 31.9 | 100.0 43 5.0
0= 446 22.9 10.6 76 143 | 100.0 2.7 2.9
20| 134 25.5 19.3 0.0 418 | 100.0 5.3 4.2
N 477 30.2 16.6 35 20  100.0 1.8 1.0
H= 39.5 60.5 0.0 0.0 0.0 = 100.0 1.6 0.5
=Xel; 40.2 25.4 213 11 12.1 | 100.0 2.8 32
g{g Zof 59.2 2.0 8.4 2.2 283 | 1000 3.0 3.0
56t [j=got 481 12.9 20.7 7.8 10.5 = 100.0 29 3.9
b2 O 0f 345 19.7 12.3 1.9 31.5 | 100.0 3.9 40
== 489 19.6 18.8 0.0 12.7 | 100.0 2.8 3.3
A= 50.9 14.9 15.9 2.2 16.2 | 100.0 26 2.7
A} 273 18.6 20.1 5.8 282 | 100.0 34 2.5
ot} 38.7 10.0 32.1 12 18.0 = 100.0 2.9 2.5
7| E} 314 29.2 7.0 16 309 | 100.0 27 1.6
M2 35.6 21.8 212 45 16.9 = 100.0 3.2 3.6
ol x/ZA7| 66.5 11.5 8.0 3.9 10.0 = 100.0 1.9 1.8
o 443 33.2 24.5 9.2 3.0 301 | 100.0 3.6 3.6
- HBA/BHA 52.2 17.8 11.3 5.8 13.0 | 100.0 24 2.8
2z /M2t 49.8 12.8 8.8 15.8 12.8 | 100.0 3.0 3.9
RE/RSH 27.9 16.7 14.0 0.0 414 | 100.0 44 44
o L X} 410 18.1 17.1 4.2 19.7 = 100.0 3.0 3.2
e = o At 457 20.6 13.3 45 15.9 | 100.0 3.0 3.6
30 o|s} 485 20.4 16.0 2.2 12.9 = 100.0 25 29
o o 40 Cf 33.9 18.7 20.1 49 224 | 100.0 35 3.7
=< 50 CH 497 13.8 13.9 4.2 184 | 100.0 29 34
60 A| O| A 36.1 24.3 6.1 9.2 242 | 100.0 3.5 35
DZ0|8} 38.1 10.6 16.9 3.8 306 = 100.0 3.9 40
- g = 46.7 20.3 15.4 45 13.1 | 100.0 26 29
o CHSHSl O] At 39.9 22.7 14.5 44 18.6 = 100.0 3.1 3.5
28 37.6 18.5 19.4 2.8 217 = 100.0 3.2 29
3xokel ojgt 40.8 19.5 16.5 41 19.2 | 100.0 3.1 3.3
i@ 3-5M0tel O|ot 37.6 21.7 15.4 40 213 | 100.0 3.2 3.6
7 s Ao oAt 534 15.8 12.9 5.2 12.6 = 100.0 26 3.2
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2
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(=33 tHE ZFHA=1196, thel: %, )

T &2 14 2'd 34 44 SHOK | A R | BEEEA

M A 47.1 22.2 12.5 49 13.3 | 100.0 2.5 26

gt 25.1 32.3 15.9 5.3 213 | 100.0 3.2 2.8

0= 434 21.1 10.5 73 17.8 = 100.0 2.9 2.9

20| 44.8 66 | 427 0.0 59 1000 2.4 1.9

AFZI 61.7 12.2 15.9 0.0 10.2 | 100.0 1.8 1.3

n= 594 406 0.0 0.0 0.0 = 100.0 1.4 0.5

8ot 33.0 30.0 20.1 2.7 142 | 100.0 2.6 2.1

U= =g 308 | 107 154 00 431 1000 37 | 28
56t =9t 54.6 21.1 12.9 3.6 79 | 100.0 23 3.1
HES A0 38.2 25.6 9.2 6.1 209 | 100.0 2.8 2.4

=] 50.3 31.2 6.5 22 9.8 | 100.0 21 2.0

A= 60.7 16.8 114 5.5 57 | 100.0 2.0 2.3

A5} 495 23.6 13.2 3.8 10.0 = 100.0 2.2 1.9

ot} 56.1 13.2 18.8 0.6 11.2 | 100.0 23 2.7

7| E} 47.2 28.4 11.5 8.8 40 @ 100.0 1.9 1.1

N e 51.6 21.8 144 3.6 8.6 | 100.0 2.2 24

olX /A 7| 41.0 24.6 8.3 6.8 19.3 | 100.0 2.8 2.4

e 448 52.5 17.5 12.1 43 13.6 = 100.0 2.3 2.2
- ZR/58H 26.1 16.9 17.0 124 276 | 100.0 44 4.8
2= /M2 52.9 25.4 3.8 2.2 15.6 = 100.0 2.4 2.5
RE/RSH 35.3 30.5 134 43 16.6 = 100.0 2.7 2.2

. o X} 50.1 21.2 12.1 42 12.3 | 100.0 2.4 2.6
c= o X} 427 23.7 13.1 5.8 14.7 = 100.0 2.6 2.5
30 CH O|s} 56.4 23.1 11.8 44 43 | 100.0 1.9 1.5

o o4 40 Cf 435 22.2 15.2 6.8 12.2 | 100.0 2.4 2.0
- ° 50 CH 36.9 21.7 139 5.2 223 | 100.0 2.9 2.6
60 A| O| At 429 20.6 6.6 1.3 28.6 | 100.0 3.9 49

=08} 55.5 17.6 9.2 2.8 149 = 100.0 2.5 3.3

sta o = 49.0 22.2 11.9 5.0 11.9 = 100.0 23 2.1
o CHsHR Of & 38.8 25.1 16.3 6.5 13.3 | 100.0 2.8 2.7
£33 35.3 25.9 7.2 0.0 316 | 100.0 3.9 3.9

340t ojat 51.1 18.2 12.7 49 13.1 | 100.0 2.5 2.8

i@ 3-5Make ojat | 4238 26.5 15.9 46 10.2 = 100.0 2.4 2.0
7| sHore o)At 39.5 29.9 94 5.0 16.2 = 100.0 2.6 2.5
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A3y =AF SAE

35. Ol 88 HHE O|l&
ol&Z3 CE FBXF=1,196, Tl %)

78 Jeds | mw | BY | ma | e | @A
A A 68.2 7.3 7.2 5.8 116 100.0
23} 69.8 6.9 3.0 0.2 20.1 100.0
0j& 66.8 12.8 9.9 45 6.0 100.0
20j 52.4 26.6 14.9 6.1 0.0 100.0
N 53.8 13.0 1.8 24.5 6.9 100.0
= 114 0.0 0.0 3238 55.8 100.0
Sof 65.3 2.2 8.5 6.5 174 100.0
i =9 88.4 2.1 7.1 20 05 | 1000
5§ =2 o 74.9 7.7 46 7.5 5.2 100.0
Hb o Of 67.8 46 4.0 2.1 215 100.0
=L 46.9 9.5 20.0 9.0 14.6 100.0
= 63.4 46 9.2 5.9 16.9 100.0
A} 76.1 15 37 5.6 132 100.0
ot} 82.1 6.5 0.5 13 95 100.0
7|E} 72.5 7.2 9.3 7.0 40 100.0
M 2 71.8 6.0 34 4.0 14.9 100.0
OIXM/A7| 60.5 45 18.0 94 76 100.0
e AAd 65.9 18.6 36 9.0 29 100.0
- 2U/ENH 754 24 8.2 4.2 9.7 100.0
= /Metd 50.5 15.5 13.1 6.7 143 100.0
2/28H 715 6.8 3.1 1.8 16.8 100.0
o Lt X} 76.8 6.8 0.2 37 126 100.0
c= of A 55.9 8.1 17.2 8.7 10.1 100.0
30 Cf o|s} 68.6 5.6 6.6 8.4 10.8 100.0
- 40 Tf 786 5.0 7.7 2.5 6.2 100.0
=< 50 CH 60.1 9.1 6.0 4.4 20.3 100.0
60 Al O At 55.8 14.9 9.3 7.3 127 100.0
TZ0|3} 70.1 13.7 39 13 11.0 100.0
. & 66.4 6.9 6.4 6.8 135 100.0
o CHBHS oAk 68.8 4.4 112 6.8 8.8 100.0
FSE 85.6 0.0 0.0 6.0 8.5 100.0
3MoHRl ojgk 70.2 9.5 4.0 41 122 100.0
i@ 3-5 A0rel Ojgt 70.6 5.5 6.9 8.0 9.0 100.0
7 s Aoy oAt 60.6 2.8 16.0 8.6 119 100.0
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